UGC NET 2022 LINGUISTICS

Topic:- GP_UGCNET_SET1_shift2_A

1)

The following table presents data about academic performance of students showing pass
percentage (%) and ratio of male to female among passed and failed students of six different
colleges A-F in a city. Based on the data in the table, answer the questions 1-5 :

College-wise Academic Performance of Students

College Pass percentage Rati'n of P\ilale to Fe::nale Ratio ufr Ma:le to Fe.f'nale in
in pass students fail students
A 40% 12:13 12:5
B 55% 5:3 11:14
C 70% 75 5:3
D 45% 4:1 T3
E 50% 2:1 1:2
F 37.50% 3:2 2:1

fremaanft 3 sEl + srerEiE wEvE 1 3 afave o B uE aEnel % Il S gl F e
graf] el F 6 (A-F) Sem-sAer Hieis F1 HiHg Falia 21 999 e 1 8 5 #1339
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A 40% 12:13 12:5
B 55% 5:3 11:14
C 70% 7:6 5:3
D 45% 4:1 7:3
E 50% 2:1 1:2
F 37.50% 3:2 2:1

If the number of students who have passed from B and C are equal, then what is the ratio
between the number of failed students from B and C, respectively?

afs B 3 C # 3901 g0 o il gen waH T, 99 w9 B 3t C 1 syl ol # e ey |7

[Question ID = 1558][Question Description = 101_00_General_11_SEPT22_Q01]

1. 13:23

13:23

[Option ID = 6229]
2. 23:13

23:13

[Option ID = 6230]
31121



11:21

[Option ID = 6231]
4. 21:11

21:11

[Option ID = 6232]

2
) The following table presents data about academic performance of students showing pass

percentage (%) and ratio of male to female among passed and failed students of six different
colleges A-F in a city. Based on the data in the table, answer the questions 1-5 :

College-wise Academic Performance of Students

College Pass percentage Rati‘n of ]E\fla;e to F‘e::rla.le Ratio u}r 1\..151‘1'3 to Fe;nale in
in pass students fail students
A 40% 12:13 12:6
B H55% 5:3 11:14
C 70% 75 5:3
D 45% 4:1 7:3
E 50% 2:1 1:2
F 37.50% 3:2 2:1

fremmaamlt § ol & sl vy w1 3wl gl o e d e & al o sl w5 s
reaeefi IRl & 6 (A-F) S®0-3Ae0 Shicial & s YEHE 21 99 56 1 § 5 1 I S

FIAS -9 BT F FFEHF T34

i <ol e Sefiof ferenfefat Ecuini ﬁmﬁhﬁ q
BE-BENHA 1 HIIE SE-TETHA! F1 T
A 40% 12:13 12:5
B 55% 5:3 11:14
C 70% 7:5 5:3
45% 4:1 7:3
E 50% 28 1:2
F 37.50% 3:2 2:1

If the ratio of students in B and C is 2:3, then what 1s the ratio between the number of males
who passed from B and the number of females who failed from C?

afz ‘B i ‘O H Bl # I 2:3 R, 7@ B H 3wl g it wen w00 el smed f e &
|1 S R 7
[Question ID = 1559][Question Description = 102_00_General_11_SEPT22_Q02]
1. 24
24

[Option ID = 6233]
. 1:2



1:2
[Option ID = 6234]
3. B5:2T
55:27

[Option ID = 6235]
4. 2755

27.55

[Option ID = 6236]

3)

The following table presents data about academic performance of students showing pass

percentage (%) and ratio of male to female among passed and failed students of six different
colleges A-F in a city. Based on the data in the table, answer the questions 1-5 :

College-wise Academic Performance of Students

College Pass percentage Rati‘m of ]E\fla;e to Fe::na.le Ratio n}r 1\fia11e to Fe.Trlale in
in pass students fail students
A 40% 12:13 12:56
B 55% 5:3 11:14
C T0% 75 5:3
D 45% 4:1 T:3
E 50% 24 1:2
F 37.50% 3:2 2:1

feraamft 4 @l & s ggeE 1 3l gfaee R 9 vd aEel & 3l i dgel # s
graeft B0 % 6 (A-F) 3©M-31e7 Fical &1 dAHs =i 21 uv9 9= 1 g 5 #5 3 Afeu

FIAA-T0 BT T HAGEHE T2

v S s S % S Ferie o
BE-SEIA] FH A BE-BETH F S
A 40% 12:13 12:5
B 55% 5:3 11:14
¢ 70% 7:5 5:3
45% 4:1 7:3
E 50% 2:1 1:2
F 37.50% 3:2 2:1

Find the ratio of number of male to female students in D?

D 8 B 3R FEnE f @ w1 s 5 i |

[Question ID = 1560][Question Description = 103_00_General_11_SEPT22_Q03]

1. 149:51
149:51

[Option ID = 6237]
2. 51:149




51:149

[Option ID = 6238]

.81

3:1
[Option ID = 6239]

4 1:3

1:3

[Option ID = 6240]

4)

The following tahle presents data about academic performance of students showing pass
percentage (%) and ratio of male to female among passed and failed students of six different
colleges A-F in a city. Based on the data in the table, answer the questions 1-5:

College-wise Academic Performance of Students

| - I Rati‘c:a of I\flale to Fm:nale Ratio u}r I‘E.fIa‘le to Fe_-male in
in pass students fail students
A 40% 12:13 12:5
B 55% 5:3 11:14
C 70% 75 5:3
D 45% 4:1 7:3
E 50% 2:1 1:2
F 37.50% 32 21

frermagmft d o & st yey #1 3dl gfawm o o @ aEe % 3l o sl w1 s
el I % 6 (A-F) SHem-3Ae Ficis &1 AiFs TSl 21 9 = 1 8 5 = 3w At

FIOTS—aN D1 1 AFEHF TEI

—— it s sl Bt PN R
FE-BEA F IFIIE IE-TETAT H T

A 40% 12:13 12:5

B 55% 5:3 11:14
¢ 70% 7:5 5:3
45% 4:1 T:3

50% 2:1 152
37.50% 3:2 2:1

What is the pass percentage of male students in College A?

yEIEeTed A | 36 S &1 ufaee #2327

[Question ID = 1561][Question Description = 104_00_General_11_SEPT22_Q04]
1 17%%

17% afasm

[Option ID = 6241]



2. 20%

20 yfgera

[Option ID = 6242]
3. 19%%

19 ufeqwm

[Option ID = 6243]

4. 20%%
20 wleare
[Option ID = 6244]

5 . . .
) The following table presents data about academic performance of students showing pass

percentage (%) and ratio of male to female among passed and failed students of six different
colleges A-F in a city. Based on the data in the table, answer the questions 1-5 :

College-wise Academic Performance of Students

College Pass percentage Rati‘n of P\ilale to Fm:nale Ratio ulr 1&6[;11113 to FBETI&].& in
in pass students fail students
A 40% 12:13 12:56
B 55% 5:3 11:14
G T0% 75 5:3
D 45% 4:1 T3
E 0% 2:1 1:2
F 37.50% 3:2 2:1

fFrerragmlt # oE % srEfE yavE # 3El gfow o o ud sEe % 3l o s # s
raefl 9Bl & 6 (A-F) S-S Shicial &1 AiHs YSEih o) 99 §ed 1 § 5 1 I S

FieAa-aN BE1 F1 FEHE T2

T - Sefiof ferenfefat & Ecuini fa‘mﬁhﬂ A
BE-BENA FH FJIE BE-TETHA! H T
A 40% 12:13 12:5
B 55% 5:3 11:14
C 70% 7:5 5:3
45% 4:1 7:3
E 50% 2:1 1:2
F 37.50% 3:2 2:1

If the number of male students who have passed from D and F are equal, then what is the
ratio of number of students in D and F respectively?

R D 3 F & vl 29 aret @l I Jen v owE # d e D s FoH el i den @ sEum
F1 27

[Question ID = 1562][Question Description = 105_00_General_11_SEPT22_QO05]



. 85

8:5

[Option ID = 6245]
2 38

3:8
[Option ID = 6246]

3. 83

8:3
[Option ID = 6247]

4. 58

5:8
[Option ID = 6248]

Topic:- GP_UGCNET_SET1_shift2_B

1) Match List I with List 11

List [
Activity/Area
(A) Team work
(B) Self belief and happiness
() Musical
(D) Application

List II

Intelligence Type
(I) Development of Intelligence Quotient
(II) Development of Emotional Quotient
(II1) Development of Spiritual Quotient
(IV) Multiple Intelligence

Choose the correct answer from the options given below:

T 1 & g 1 g @ oo $ifsg

-1

nfafafi/ém
(A angfe F1d [
(B) sreafavam s g
(©) =fiawa
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[Question ID = 1563][Question Description = 106_00_General_11_SEPT22_Q06]

" (A)-(D), (B)-(ID), (C)-(IV), (D)-(I1T)
(A)-(D), (B)-(1D), (C)-(IV), (D)-(111)

[Option ID = 6249]

2. (A)-(11D), (B)-(1D), (C)-(D). (D)-(IV)



(A)-(I1I), (B)-(1I), (C)-(I), (D)-(IV)

[Option ID = 6250]

3 (A)-(ID), (B)-(IID), (C)-(IV), (D)-(D)
(A)-(ID), (B)-(IID), (C)-(IV), (D)-(I)
[Option ID = 6251]

4 (A)-(D), (B)-(I1I), (C)-(IV), (D)-(1D)
(A)-(1), (B)-(11D), (C)-(IV), (D)-(11)

[Option ID = 6252]
2)  Which of the following types of evaluation is done during the teaching — learning process?

forgui-stftrm % ghm Fr=fafias @ 8 g yen =1 e e smar 27

[Question ID = 1564][Question Description = 107_00_General_11_SEPT22_Q07]

1. Summative
Hepfera
[Option ID = 6253]
2. Integrative

HATRTTTHR

[Option ID = 6254]
3. Formative

Fmomen=s

[Option ID = 6255]
4 Diagnostic

[Option ID = 6256]

3) Effectiveness of teaching depends on

foress it wurasierar fFa w Ffr =+t 27
[Question ID = 1565][Question Description = 108_00_General_11_SEPT22_Q08]
! Qualification of teacher

g it

[Option ID = 6257]
2. Handwriting of teacher

faregs it ot

[Option ID = 6258]
3. Personality of teacher

Torers =1 =ufrea

[Option ID = 6259]
4. Ability of teachers to explain the concept to the learners

ferenfigt 1 g £t srEm F== fi Sigw i g



[Option ID = 6260]

4) Which of the following is the “National Coordinator" of MOOCs for self-paced courses on
SWAYAM portal?

fr=fafiga 4 @ 19 =30 (SWAYAM) 9Pe @ w-fyifa nfd greesmd & e st s dl. (MOO0Cs)
& g BT 27

[Question ID = 1566][Question Description = 109_00_General_11_SEPT22_Q09]
1. AICTE

.38 H.A.5. (AICTE)
[Option ID = 6261]

2 uGe
7. 5H. (UGC)

[Option ID = 6262]

3. NPTEL
w.dtf S ud. (NPTEL)

[Option ID = 6263]

4 IGNOU
185 w.3 g, (IGNOU)
[Option ID = 6264]

5) Attitude of teacher in the classroom that impacts teaching pertains to which of the following
domains?

a1 e =1 s, S fe =1 wnifEe s 2, etefen e vwe-a3 g g9t 20

[Question ID = 1567][Question Description = 110_00_General_11_SEPT22_Q10]
. Cognitive

LERIEIREED

[Option ID = 6265]

2. Conative

Trameas

[Option ID = 6266]
3. Affective

HidcH=h

[Option ID = 6267]
4. Psychomotor

AT

[Option ID = 6268]

6) A measurement based on properties of time, like minutes of a radio conversation is identified
as

aua & e T s w39 e amateny & e e fafEe @n R



[Question ID = 1568][Question Description = 111_00_General_11_SEPT22_Q11]

' Timeframe

wreTafy

[Option ID = 6269]
2. Temporal unit

HITeTH TS

[Option ID = 6270]
3. Timeline unit

amferdr 18

[Option ID = 6271]
4. Durational unit

quATEF 3T

[Option ID = 6272]

7) The research approach of hermeneutics is concerned with
yrranedraraT w5 vty 3ur e gy 27
[Question ID = 1569][Question Description = 112_00_General_11_SEPT22_Q12]
1. Textuality
I3
[Option ID = 6273]
2. Evaluation
Hedr-
[Option ID = 6274]

3. Discourse

wife

[Option ID = 6275]
4 Interpretation

[EEEE]

[Option ID = 6276]

8)  Which of the following are similarities between qualitative and quantitative research?

(A) Data increase

(B) Answering research questions

(C) Relating data analysis to literature
(D) Variation

(E) Use of null hypotheses

Choose the correct answer from the options given below :



e 5 & e offt SREIeTE SHEYE F 99 § 71 gEEary £ 7

() =@Ifg

(B)  3HEYH EHT H1 W 4

(C) wfeeg @ 7w fagemo &1 vy wnfia w0
(D) ftads

(E) = 9fweaan &1 93

= fou mu fasedl 4 4 wE 3w = 5= Fifeu

[Question ID = 1570][Question Description = 113_00_General_11_SEPT22_Q13]
- (A), (B), (C) only

Fee

(A), (B) 3z (C)

[Option ID = 6277]

2. (B). (C), (D) only
e (B). (C) 3 (D)

[Option ID = 6278]
3. (0), (D), (E) only

Fa4 (), (D) 31 (E)

[Option ID = 6279]
4 (B, (D), (E) only

+aa (B). (D) =it (E)

[Option ID = 6280]

9)

Given below are two statements:

Statement [ : In content analysis, the researcher will code the text in terms of themes or

subjects.

Statement [1:  The categorisation of content is normally done according to the phenomena

of interest.

In the light of the above statements, choose the correct answer from the options given below

Hr=1 7t #ye fou o g

FaA 1 w=awg e 8 sngwal fawal sgen we % gy § U8 w6 F2-ag = |
FYA1L:  si=dawg 1 il grr=man wf A afeene & e f e

ITIT F94 & e 4, J= B o e ¥ 9 g9d 3 W 939 fifso

[Question ID = 1571][Question Description = 114_00_General_11_SEPT22_Q14]
. Both Statement | and Statement 11 are true

Fuq [ s Il e g 2



[Option ID = 6281]
2. Both Statement [ and Statement II are false

Fo [ afit 11 21 a1eeg 2

[Option ID = 6282]
3. Statement [ is true but Statement 11 is false

FeA | a9 2, ot e 11 160 2
[Option ID = 6283]

4. Statement [ is false but Statement 1l is true
#eA | 3164 2, At FeA 11 99 2

[Option ID = 6284]

10) Identify the sequence of following steps in mail surveys

(A) constructing a questionnaire
(B) mail the questionnaire

(")  prepare a covering letter

(D) Monitor the return rate of maail
(E) Select a sample

Choose the correct answer from the options given below :
e 5 4 o () gagw & Fefafaa = & w5 = e

(A)  wwaTEed Fmio

(By  weamEet 1 =k | ftm s
(C) @3- = S=W EA

(D) 7 & At @ F A =
(B)  wsh wfeiest =1 =

i feu o ferpedl | | WEl I =FA HfA

[Question ID = 1572][Question Description = 115_00_General_11_SEPT22_Q15]
- (A), (O), (D), (B), (B)

(A), (), (D), (E), (B)
[Option ID = 6285]

2. (B). (D). (E), (C). (&)
(B). (D). (E). (C). (A)

[Option ID = 6286]
3 (D), (C), (A). (E), (B)

(D), (©), (A). (E), (B)

[Option ID = 6287]

4 (B), (A), (), (B), (D)
(E), (A), (C), (B), (D)



[Option ID = 6288]

") Which one of the following is important, in cross-cultural communication in a classroom?

foredt wen o w17 wTepfom gemm § F=fafaa 7 5 F60 @m gaca 27

[Question ID = 1573][Question Description = 116_00_General_11_SEPT22_Q16]
1. Self-approval propositions

TSI 7 AT

[Option ID = 6289]
2. Dignified humour

waffea ufam

[Option ID = 6290]
3. Diversionary tactics

feremait gfeat
[Option ID = 6291]
4. Use of strong language

FHE 919 FH ITEM

[Option ID = 6292]

12) Normally media supplied information is

gra: difen g smgd geE a2
[Question ID = 1574][Question Description = 117_00_General_11_SEPT22_Q17]
1. Specialised

[Option ID = 6293]

2. Prescriptive

HTEITTHF

[Option ID = 6294]
3. Descriptive

FuiHTHS

[Option ID = 6295]
4. Status-related

ufeafa @ w=fea

[Option ID = 6296]



13) Stereotyping is a/an of pre-judgement in communication

(A) Motivational dimension
(B) Emotional dimension
() Cognitive Weakness
(D) Generalisation

(E) Reflection of excellence

Choose the correct answer from the options given below :

waragm (i) s § @osmsea f ———— 7|
(A)  wfiproTeEE SEW

(B)  waewHh AW

(C)  AFFEEF FAAR

(D)  FE=E

(B)  3epwa =1 e

Hr= fw o et d & odt I == il

[Question ID = 1575][Question Description = 118_00_General_11_SEPT22_Q18]
- (A), (B). (C) only

Fad (A), (B) 31 (C)

[Option ID = 6297]
2. (B). (C). (D) only

Fad (B), (C) i1 (D)

[Option ID = 6298]
3-(0), (D), (E) only

Faa (0), (D) 31 (E)

[Option ID = 6299]
4 (A). (D). (E) only

Fad (A), (D) 31 (E)

[Option ID = 6300]

14)  Given below are two statements:
Statement [ : Lack of common understanding is a psychological barrier in
communication.
Statemet 11 : Inadequacy of language, devoid of experience, will lead to failure in
communication.

In the light of the above statements, choose the correct answer from the options given below



= 2 o 2y T E:

FUq 1 HHETST GOE R SUTE GO § Tk S AT R
FYA Ll : WA wr i sgiee gere § fwerar f s @ s |

IYUH FY4 F A |, 4 2 o fagedi 4 g g 3 9 999 fifew

[Question ID = 1576][Question Description = 119_00_General_11_SEPT22_Q19]
1. Both Statement | and Statement Il are true

FgA ] AR M 2q a9 2

[Option ID = 6301]
2. Both Statement | and Statement II are false

Fod 1 31 11 341 38 2

[Option ID = 6302]
3. Statement [ is true but Statement 11 is false

Fod | |9 2, A #9911 o5 2

[Option ID = 6303]
4. Statement [ is false but Statement 11 is true

Fo | 15 2, | 9 1 gex 2

[Option ID = 6304]

15 Match List I with List I1

List 1 List I1
Communication Term Subject source
(A) Appreciative mass (I) Psychology
(B) Collective representation (II) Sociology
(C) Frame of reference (III) Anthropology
(D) Stereotypes (IV) Political science

Choose the correct answer from the options given below:

et 1 & g 1 g = fuem fifsg

gHl-1 -1
T g o &
(A) FEIHR FH-HE () wEfEEE
(B) =i wfaffae (1) == e
() s dm (1) s
(D) ®e-w&q (fFer=) (IV) =it s
Ha fou o fepedt & & @t 3w #0199 A

[Question ID = 1577][Question Description = 120_00_General_11_SEPT22_Q20]



-

- (A1), (B)-(D), (C)-(II), (D)-1V)
(A)-(D), (B)-(ID), (C)-(I1D), (D)~(IV)

[Option ID = 6305]
2 (A)-(IID), (B)-(IV), (C)-(I), (D)-~(1I)

(A)-(I1D), (B)-(IV), (C)-(1), (D)-(1I)
[Option ID = 6306]

30 (A)-(IV), (B)-(1L1). (C)-(1T), (D)-(D)
(A)-(IV), (B)-(LL1), (C)-(1D), (D)-()

[Option ID = 6307]

4 (A)-(IT), (B)-(I1D), (C)-(D), (D)-(IV)

(A)-(II), (B)-(I1L). (C)-(I). (D)-(IV)
[Option ID = 6308]

16) In a certain coding scheme ‘TEACHER' is written as 'VGCEJGT. How the word
'CHILDREN' shall be written in that scheme?

v fifvem #Fido (wiféEn) wzfa # TEACHER %1 VGCEJGT fovar s 2 | st ugfa 4
‘CHILDREN' =1 ¥8 fown smam ?
[Question ID = 1578][Question Description = 121_00_General_11_SEPT22_Q21]
1. EJEKNFTGP

EJKNFTGP

[Option ID = 6309]
2 BJNKTFGP

EJNKTFGP

[Option ID = 6310]
3. ENJKFTPG

ENJKFTPG

[Option ID = 6311]
4 EJKNTFPG

EJKNTFPG

[Option ID = 6312]

17)  Certain number of birds are sitting on two trees A and B. If a bird from the tree B goes to the
tree A, then no. of birds on the two trees become equal. However, if a bird from tree A goes to
tree B, then the no. of birds on the tree B becomes twice that of A. How many birds are there
on the trees A and B, respectively?

uferi =i fifvaa gem 31 92l A 3 B =t 2 | 3ft v uefi Uz B ® 9 A W =0 90 8, o a1 gel
7t ufel ) Hen wE gaE A 9 8 | 9 9w uef Ug A § 93 B W wen 9w g, a9 Bt afe
& HEn A ° g @ St # ) A s B st woufeEi i gen s e 20

[Question ID = 1579][Question Description = 122_00_General_11_SEPT22_Q22]
1. 3.5



3,5

[Option ID = 6313]
2. 76

7.6

[Option ID = 6314]
3. 5.7

5,7

[Option ID = 6315]
4911

9.11
[Option ID = 6316]

18) The average age of a man and his son i1s 45 years. The ratio of their age is 2:1, respectively.
What is the age of the man and his son?

u =i ol 3o OF T ofted g 45 a4 2 | AR ST W U wEe: 2:1 2 | =i of 3w gm A
g F 27

[Question ID = 1580][Question Description = 123_00_General_11_SEPT22_Q23]
1. 60, 30

60, 30

[Option ID = 6317]
.70, 35

70, 35

[Option ID = 6318]
3. 62, 31

62, 31

[Option ID = 6319]
4. 56, 28

56, 28

[Option ID = 6320]

19) 1In a class the ratio of female students to the male students is 16:9. What percentage of the
class is female?

u Fen | wfeen i quy frenfl & sgum 16:9 # | wen o wfgenst @ wfowm =0 27

[Question ID = 1581][Question Description = 124_00_General_11_SEPT22_Q24]

1. 60%

60%

[Option ID = 6321]
2. 55%

55%

[Option ID = 6322]



3. 36%

36%

[Option ID = 6323]
4. 64%

64%

[Option ID = 6324]

20) A retailer marks all his goods at 50% above the cost price and thinking that he will still
make 25% profit, offers a discount of 25% on the marked price. What is the actual profit he
earns on his sales?

UF e fopral 37 A 59 W @ 4ed H 50% W e SfEd w2 S g7 g 3 s
ot 25% w9 7, 8 il gFa W 25% 7 () F vEE 2 g ¢ | 38 e il | e st
14 WTH &

[Question ID = 1582][Question Description = 125_00_General_11_SEPT22_Q25]

- 25%

25%

[Option ID = 6325]
2 12%

12%
[Option ID = 6326]
3. 12.50%

12.50%

[Option ID = 6327]
4. 15%

15%

[Option ID = 6328]

21) If the statement ‘some plants are carnivorous' is given as true, then which of the following

could be immediately inferred from it:

(A) *All plants are carnivorous’ is undetermined

(B) ‘All plants are carnivorous’ is true

() ‘Some plants are not carnivorous’ is undetermined
(D) ‘No plants are carnivorous’ is false

Choose the correct answer from the options given below :



afz woA- Fo 08 wewe & F A S w9 8 G a2 9@ sed Pefafee § @ e aenfos sea
Fqmita o = gt 27

(A) ot Y weweh &, sifuifa 2

(B) meft ) wimvef ¥, w2 )

(©)  ‘Fo T wavaf 768 T, i 2

0 I 1 R o B

9 ffu o e § & o 3w v fifen
[Question ID = 1583][Question Description = 126_00_General_11_SEPT22_Q26]
1. (B)s {[3) {D} On-ly
F4e (B), (C) 3 (D)

[Option ID = 6329]
2. (B) and (C) only

&Hae (B) 31 (C)

[Option ID = 6330]
3. (B) and (D) only

&Had (B) #1 (D)
[Option ID = 6331]
4. (A), (©), (D) only
Fae (A), (C) 3 (D)
[Option ID = 6332]

22) ‘Most people in our community think that movie ABZ is pornographic. Therefore movie ABZ
is legally pornographic’. Which of the following fallacy is committed in this argument?

AR wzE § sAftwis & g 2 5 gefaa () ABZ swele 2 ) afon, setm ABZ s w0 @
sgeftel & | 39 ok § FW °1 dh-am fEn m R

[Question ID = 1584][Question Description = 127_00_General_11_SEPT22_Q27]
- Red Herring

s g
[Option ID = 6333]
2. Ad Populem

U e

[Option ID = 6334]
3. Ad Bacullum

Ug dFen

[Option ID = 6335]
4. Ad Hominem

g Ffen

[Option ID = 6336]



23) Given below are two statements:

Statement [ : ‘No 8 is P’ is contrary to ‘All S is P,

Statemet 11 : ‘Some S is P' is contrary to 'No S is P'.

In the light of the above statements, choose the correct answer from the options given below

H=1 21 Fue 2o o E:

Foal:  FRAS PHE, @R S, PE F faulimedw 2
FAll: ‘FB S PE, WA S PAA R F vl # |

I FF F el 5, f9 Bo o e § 8 wd 3w % 999 it

[Question ID = 1585][Question Description = 128_00_General_11_SEPT22_Q28]
. Both Statement | and Statement 11 are true

Fuq [ SRl aH g 2

[Option ID = 6337]
2. Both Statement | and Statement II are false

Fo 1 3 11 21 76T 2

[Option ID = 6338]
3. Statement [ is true but Statement 11 is false

FuA | &9 2, S e 1] 379 7

[Option ID = 6339]
4. Statement I is false but Statement II is true
FuA | 379 2, o w9 11 5 7
[Option ID = 6340]
24) Which of the following steps of inference corresponds to application (upanaya) according to
Classical Indian Logicians?
FFerferehl Wt aehenfaral % sran frfefan # @ S99 @ sHEE SHwEr (I9a) % e 87

[Question ID = 1586][Question Description = 129_00_General_11_SEPT22_Q29]
- This hill has smoke which is invariably associated with fire

w0 gerdt 1 yen 2, S Prgee wu @ sfa A gag 2

[Option ID = 6341]
2. The hill has fire

39 UEE H 5 2 |

[Option ID = 6342]
3. Whatever has smoke has fire, e.g. an oven

o ot & oft yarf 2, 9 s 8, 59 % T

[Option ID = 6343]



4. Because it has smoke

iR, 30H 4377 2 |

[Option ID = 6344]

25)  Which of the following statements are true with reference to Nyaya view of logic?

(A) It does not separate deduction from induction

(B) It rejects verbalist view of logic and does not study the forms of thought alone
() The formal and material logie are blended in Indian Logic

(D) Verbal form is an integral part of the Inference.

Choose the correct answer from the options given below :

frferfigs 4 2 =9 o Fo aFems F 09 & gad 0 T 20

(A)  =® A 1 e | gue A8 e 2

(B) 92 ae smE & 9wl faewel & a9 F sedien Far 8 o Fad e F w9 @ ssme 18
HATE |

(C) YTt aehere | eftraiies ot Wifas aF &1 afmgn fea w2
(D)  wnfese =9 A &1 afhd o |

H fou o faeredi § @ G I F1 =@ Shifee

[Question ID = 1587][Question Description = 130_00_General_11_SEPT22_Q30]
1. (A), (B) and (D) only

%= (A), (B) 3t (D)

[Option ID = 6345]
2 (A), (0). (D) only

Fae (A), (C), (D)

[Option ID = 6346]

a9 (A), (B), (C)

[Option ID = 6347]
4 (A), (B), (C), (D) only

Fa (A), (B), (), (D)

[Option ID = 6348]

26) What is the sum of the binary (base 2) number (1100): and the hexadecimal (base 16)
number (3),,?

fpamamd (sm-2) F@&m (1100), 3 FFamefne (F9-16) wem (3), @1 4m =0 27

[Question ID = 1588][Question Description = 131_00_General_11_SEPT22_Q31]
T (P

(F)s



[Option ID = 6349]
2. (158) w
(15) s

[Option ID = 6350]
3. (1003) 10

(1003) 10

[Option ID = 6351]
4 (1103) s
(1103) 5

[Option ID = 6352]

2D Which initiative of Indian Government aims to provide IT connectivity to all 2,50,000 Gram

Panchayats in the Country?
T e 1 R uge @ w2va 2y i gt 2,50,000 o g9EEl FoemE. A, sF A vem e 27

[Question ID = 1589][Question Description = 132_00_General_11_SEPT22_Q32]
1. BharatNet

-

YA

[Option ID = 6353]
2. NICNET

AR q2

[Option ID = 6354]
3. MeghRaj (GI Cloud)

TS (71,218 Fse)

[Option ID = 6355]
4. e-Taal

i-am

[Option ID = 6356]

28) (onsider the URL : https://example.org/index.htm]l. Which of the following are contained in
the URL?
(A) Browser name
(B) File name
() Host name
(D) Email address
() Protocol
Choose the correct answer from the options given below :



7. 30U https://example.org/index.html = foar Fifsu | f=fafes § 3 f0 a g.9mw.

Fafae £ 7

(A) SIS FH A

(B) &IEw &1 9H

(C) #¥=H (Fr2) %1 AW

(D) e EE

(E)  SiEiie

= fou o famew 9 8 w6 s o 9 i

[Question ID = 1590][Question Description = 133_00_General_11_SEPT22_Q33]
- (A), (B) and (C) only

#Fad (A), (B) 3 (C)

[Option ID = 6357]
2. (A), (C) and (E) only

4 (A), (C) 3 (E)

[Option ID = 6358]
3 (B), (C) and (E) only

e (B), (C) 3 (E)

[Option ID = 6359]
4. (C), (D) and (E) only

Faa (), (D) 3 (E)

[Option ID = 6360]

29)

Identify the correct order of some of the words A-E given below to complete the following
paragraph which explains the role carried out by different parts of the CPU,

Part of the CPU that (i) holds programs and data currently in use is called
(ii) performs calculation and logical operations is called : and (iii) tells input and
output devices how to carry out instructions is called

(A) Control Unit

(B) ASCH

(C) Immediate Access Store
(D) ALU

(E) 85D

Choose the eorrect answer from the options given below :



= A-E 4 fu m 53 w=gi & o o8 ) ggam Fefafed Tors = @ w6 e S, s ddfa,
% fim-fum wril g Py 99 3ef g #1 aofa @ 2

didftg. w1 e, S () T99F § FEEE @ S F @A 8, 3§ ®al A o8 s (i) afEReE
(FegeioM) 3 Sfforha ATHIE %1 @ F a/ 90 F _ Fal @l 2 I (i) FIE v AEge
fearsy =i =@ 2 B agesi & 8 gen & s, Jwen um 1 S 2 |

(A)
(B)
(©)
(D)
(E)

Frar fou o fasedl 4 4 w1 s = == Fifsu

Fg gfe

U, uE L3783 (ASCID)
sfafsue v w2n
WO,

ez fci

[Question ID = 1591][Question Description = 134_00_General_11_SEPT22_Q34]
- (D), (A), (B)

(D). (A), (B)

[Option ID = 6361]

2. {C)! (D}' (A)
(©), (D). (A)

[Option ID = 6362]
3 (0), (B), (A)

(C), (E), (A)

[Option ID = 6363]

4 (B), (D), (E)

(B). (D), (E)

[Option ID = 6364]

30) Match List I with List IT

List 1
Information Technology Term
(A) Hyperlink
(B) Hotspot

(©) HTTP

(D) Pixel

ty

(11

(11D

(Iv)

List 11

Definition
An area of a graphic that when clicked
will eause an action on a web page
The smallest area that can be edited
on a graphic
An element on a web page that when

clicked on will take the user to another
website, web page or document

A protocol used to send and receive
web pages

Choose the correct answer from the options given below:



gt 1 % @9 11 g 1 faem fifso

-1 gefi-11
a1 drafie o aftama
(A) T o O ot ot = é9, a s +8 @
s o fE At 2 )
(B) @fewErie (I «gam &9, Gmw o ot w gl
o < T 2
(€C) vaAAM (111 frdt 39 o9 o e, 50 fFas s W
IRl &1 3 dedEe, d4 ue 4@
ZEATES T e S |
(D) fo=ae (IV) 99 95 494 3t Wi F4 & fom 3ggim fen
BN ICiEa G

Hi= fou o Fepeat d 9 o 3 @ =wa s
[Question ID = 1592][Question Description = 135_00_General_11_SEPT22_Q35]

" (A)-(IID), (B)-(IV), (C)-(D), (D)-(IT)
(A)-(1D), (B)-(IV), (C)-(D), (D)~(1D)

[Option ID = 6365]

2 (A)(D), (B)-(IV), (O)-(L1D), (D)~(11)
(A)-(D), (B)-(IV), (C)-(I11), (D)-(1T)

[Option ID = 6366]
3 (A1), (B)-(D), (C)-(IV), (D)-(ITD)

(A)-(1D), (B)-(D, (C)-(IV), (D)-(11D)

[Option ID = 6367]

4 (A)-(ID), (B)-(D), (O)-(IV), (D)-(1I)
(A)-(I1I), (B)-(D), (C)-(1V), (D)-(1I)

[Option ID = 6368]

31) Ambient noise levels on a site located in vicinity of a busy road are expected to be in the
range:

foreft = wrt & oy vy o ofEsh @ w1 smtia W anfi ?

[Question ID = 1593][Question Description = 136_00_General_11_SEPT22_Q36]
1. 35to 45 dB

35 & 45 e

[Option ID = 6369]
2. 50 to 60 dB

50 ¥ 60 =Hiew

[Option ID = 6370]
3. 75to 85 dB

75 9 85 =HEa



[Option ID = 6371]
4 110 to 120 dB

110 § 120 ==

[Option ID = 6372]

32) Given below are two statements:
Statement 1 : Ozone hole over the Antarctica was discovered in 1987
Statemet 11 : The Montreal Protocol envisaged 50% reduction in the use of CFCs, in the

developed countries by 1998 with reference to 1986 consumption levels.

In the light of the above statements, choose the correct answer from the options given below

H= 21 =9 fan o 2
99 1 : oA feog 1 vzrEhfea 7 1987 § @i 74 |
Fou 11 : af - 1986 % VAN & F 29 F N W Af@Te TerHe & s Hwf 2

o g H.uw.dl. % I9Em § 1998 7% S0 Wiaw oht Herdl @i THedan i 7S o |

I F99 & Hoirs |, A 20 fEedi § ¥ g8 3 o 95 Fife

[Question ID = 1594][Question Description = 137_00_General_11_SEPT22_Q37]
1. Both Statement | and Statement 11 are true

Fg [ sl aaiag 2

[Option ID = 6373]
2. Both Statement [ and Statement II are false

Fo [ ofit 11 21 a8 2

[Option ID = 6374]
3. Statement [ is true but Statement 11 is false

Fo | O 2, A wow [ s 2

[Option ID = 6375]
4. Statement I is false but Statement 11 is true

FoF | 316 2, a9 11 99 2

[Option ID = 6376]

33)  Which of the following statements about World's forests are correct?

(A) Forests act as a huge carbon sink.

(B) Most of the World’s forests are concentrated in the subtropical belt in the northern
and southern hemisphere,

(C) Forests are home to much of world’s biodiversity.

(D) Moisture released from forests also contributes to rainfall.

Choose the correct answer from the options given below :



frafeifas 4 @ 27 & = fava & 2= & 9§ 76 27

(A) =4 Toomet Fe sEviee () & 9 8 % &6 2 )

(B) Tava & sifamie 39 3@ sin afevh srgmend 8 su-somieadiy o § a5fza 2
(C) = fara f sfvwy -y Fwm )

(D) =4t & fdes et oft aef & e w2

Hr= o o feRedl & § @R 39 1 99 i

[Question ID = 1595][Question Description = 138_00_General_11_SEPT22_Q38]
1. (A) and (B) only

Fae (A) 3 (B)

[Option ID = 6377]
2. (B). (C) and (D) only

#ad (B), (C) 3t (D)

[Option ID = 6378]
3 (A). (C) and (D) only

Had (A), (C) 3t (D)

[Option ID = 6379]
4. (A), (B) and (C) only

#ad (A), (B) 3 (C)

[Option ID = 6380]

34)

Given below are two statements:

Statement [ : International Solar Alliance was formed in 2010
Statemet 11 : International Solar Alliance is a group of twenty leading countries of the

World involved in collaborative research for developing solar technologies.

In the light of the above statements, choose the most appropriate answer from the options
given below

9 21 e Ry

o 1 S=aEE A TaEyA 2010 ° nifed foear

oA 11 : FaUYE B TeaTA faga % 20 et 390 w1 A g, W1 5 A e F e A

AT FTHIH 7 Wi 2

IYF FYF & Al 1, A e e 1§ @ gad 3ugw I = fife

[Question ID = 1596][Question Description = 139_00_General_11_SEPT22_Q39]
. Both Statement | and Statement 11 are true



Fo 1 RIS T

[Option ID = 6381]
2. Both Statement I and Statement II are false

Foq 1 3 11 31 3787 2

[Option ID = 6382]
3. Statement [ is true but Statement 11 is false

Fud | | 2, A w9 11 o7y 2

[Option ID = 6383]
4. Statement I is false but Statement 11 is true

%99 | A9 2, oo A 11 99 2

[Option ID = 6384]

33) Given below are two statements: one is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A):  Large dams on rivers tend to reduce the fertility of land areas in the river
flood plain

Reasons (R) : Dams reduce the deposition of silt over land areas in the river flood plain.

In the light of the above statements, choose the most appropriate answer from the options
given below

H= 31 Fo fom U B v% fHEUR (Assertion A) F w1 F fofis 2 91 290 39%F FA0T (Reason R) &
E‘lﬁ;

Afirwem (A) afedi w favmer #+r Sy 395 TR & dgr 43 i 5@ gua e F= 39
F (R) : FfE=t 6t 9% * HeEt @91 § 919 Mg F J9E O FH F 2

I FYE % e |, Fi9 By mw frwed ¥ 3 vad 3ugw 3w 99 Sif

[Question ID = 1597][Question Description = 140_00_General_11_SEPT22_Q40]
1. Both (A) and (R) are correct and R is the correct explanation of A

(A) 31 (R) 21 &8t 2 3t (R). (A) i w8 = 2

[Option ID = 6385]
2. Both (A) and (R) are correct but R is NOT the correct explanation of A

(A) &7 (R) 31 g2 2, | (R), (A) #it @&t =ame 72 2

[Option ID = 6386]
3. (A) 18 correct but (R) is not correct

(A) TEt 2 < (R) wdt =81 2

[Option ID = 6387]

4. (A) is not correct but (R) is correct



(A) & 8 2 & (R) w2
[Option ID = 6388]

36) Which core universal values were identified by the Parliamentary Committee on Value

Education under Chairpersonship of Mr. S.B. Charan

(A)  Truth

(B) Righteous conduct
(C) Peace

(D) Love

(E) Non-violence

Choose the correct answer from the options given below :

#f wm. . = i sErgd F FAia geans e F 91 q gudE wfufa 3 G e e gwm f
ggaH i ft 7

A w3

(B)  wEmHl s
(C)  wrifa

(D) |

(B) =fEm

= fou o foereat ° 9 odl 3w 1 =994 Fifew

[Question ID = 1598][Question Description = 141_00_General_11_SEPT22_Q41]
1. (A), (B), (C), (D), (E) only

e (A), (B), (C), (D), (E)

[Option ID = 6389]
2. (A), (B),(C) only

e (A), (B), (C)

[Option ID = 6390]

3. (A), (B), (€), (D) only

+ (A), (B), (0), (D)

[Option ID = 6391]
4. (A), (B), (E) only

Fae (A). (B), (B)

[Option ID = 6392]



37)  @Given below are two statements:

Statement I : University Education Commission was established in the year (1952-53)
after independence.

Statemet 11 : National Knowledge Commission (NKC) was Constituted in 2005,

In the light of the above statements, choose the correct answer from the options given below

#= 71 =g feu mu 2
Fa9 1 : Al & =17 favataaras fren s i wame 1952-53 9 e off |
Fa 11 : A9 ATers e @i 2005 | 3 g3 A |

ITUF F9 F IeF 4, T o v fHed § o wd 39 = =mw Fifso

[Question ID = 1599][Question Description = 142_00_General_11_SEPT22_Q42]
1. Both Statement | and Statement Il are true

Fgl AR a2

[Option ID = 6393]
2. Both Statement | and Statement II are false

Fod 1 31 11 341 38 2

[Option ID = 6394]
3. Statement [ is true but Statement I is false

Fod | | 2, A #9911 59 2

[Option ID = 6395]
4. Statement [ is false but Statement 11 is true

FoH | 16 2, A 9 1 905 2

[Option ID = 6396]

38) (haraka is known for

i Tohae for 94 i 27

[Question ID = 1600][Question Description = 143_00_General_11_SEPT22_Q43]
1. Medical treatise

Hfewa feergn (smafdam uw)
[Option ID = 6397]
2. Jataka tales

HATeeh HYTd

[Option ID = 6398]
3. Dharmasutras

e

[Option ID = 6399]
4. Ashtadhyayi



AT

[Option ID = 6400]

39) National Board of Acereditation was established by :

T werrEE =1 ) s e g g oft ?

[Question ID = 1601][Question Description = 144_00_General_11_SEPT22_Q44]

. uGe
PEE(R:I8

[Option ID = 6401]

2 AICTE
s | i

[Option ID = 6402]
3 DEB

E R
[Option ID = 6403]
4. NAAC
uA.uu A,

[Option ID = 6404]

40) @iven below are two statements:

Statement 1 :

Statemet [1 :

DIKSHA, SWAYAM and SWAYAMPRABHA are existing e-learning
platforms.
National Education Policy 2020, has identified National Education
Technological Forum (NETF) also to conduct Pilot Studies for online
education

In the light of the above statements, choose the correct answer from the options given below

Fr=1 <1 e o o 2

ey, w9y A =ag - g fageE $-wln & wewd 2 )

g foen i, 2020 8 wfm fen dofeia v (WEATE) w1 osEeEe e
& o ot urenfier (urrer) srsms & & fou ofEa e 2

Fyd I

&4 11 :

IYUTH FYF % e °, 99 B e fasedi 9 9 gd 3w w wma fifs

[Question ID = 1602][Question Description = 145_00_General_11_SEPT22_Q45]
1. Both Statement | and Statement 11 are true

Fgl AR NS a9 2

[Option ID = 6405]

2. Both Statement [ and Statement II are false

Fo | afit 11 21 a8 2



[Option ID = 6406]
3. Statement [ is true but Statement I is false

FuH | | 2, Al #9911 370 2

[Option ID = 6407]
4. Statement I is false but Statement 11 is true

FoH | 16 2, a9 11 95 2

[Option ID = 6408]
Topic:- GP_UGCNET_SET1_shift2_C

1) Read the passage and answer questions from 46 to 50

To start, we must recall what made historical colonialism distinctive. Colonialism was a form
of economic and social organization dominated by major colonial powers such as Britain,
France, Spain, and later the United states. It is now usually regarded as historically closed,
ended by the decolonising movements of the later twentieth century, although in politics and
other areas, neocolonial forms of power live on. Now it is the continuity from the older
colonialism to a new form of colonialism — data colonialism. There were four key components
to historical colonialism: the appropriation of resources; the evolution of highly unequal
social and economic relations that secured resource appropriation, including slavery and
other forms of forced labour as well as unequal trading relations; a massively unequal global
distribution of the benefits of resource appropriation; and the spread of ideologies to make
sense of all this. For example, the reframing of colonial appropriation as the release of
natural resources, the government of inferior peoples, and the bringing of civilization to the
World. In deseribing the transformations underway today as data colonialism, we use the
term colonialism not because we are looking for a metaphor but because it captures major
structural phases within human history and specifically within capitalism. Colonialism has
not been the standard reading of what is changing in contemporary capitalism. Yet it is
becoming increasingly clear that capitalism’s current growth cannot be captured in terms of

ever-more ambitious business integration or the ever expanding exploitation of workers,

Fr=fefian s =t 7g 39T ¥39 = 46 § 50 7% F I A9 |

7H W H g TR e iR F Bren tftefie sufievems @ ades seen | sufrEwan snfde e
It wed 1 uh w5 91, o v e, w5, w9 s ar 0 enfen S siufEien afwEb e
@ | e wd % sfow e § SuaTER-fand g % w97 s Aman w tfaafis w9 9
ETH §FT 1 7, TEM TSI @0 aEl F Wit & F9-30HaEnE B 96 F | 97 e s wE
IufEeER @ ITFETERE % AU ®U-3a IUHEvER (39 SUHEIER) % dn w R 2| tfaefas
IfETER F AR W 92w 9 - #qEuE F A senfus s amfiE @ e wEd
sefeamrmm, frrd zraar it semd o9 & 39 w91 % sifafcr swemm s gay, goae G & e .
UF Al w0 W EaE Afaw Faw; it 59 mEes a1y wud Jrel FEnuwed 1 v e 9 )
serEmnd, g dEreEl i Fw e =9 A ity Tl B gals, fee | aen o
fara # wem @ f EET | ER Sa-3THETER % R § g9AW § 8 W s & ave & fom
“FufavET weg %1 9Am gafere 98 @ H=ifE w6 v w0 f a2, afew 78 ama s % e
it fa9m =9 & Gofiae F ftm goaers o w wiEm i 2 | uEEEE [ A # A feea
w2 o ol gofae d e afedr @ w2 e ofl, o afmim  d wm dm w2
gettare 1AM Sgig F1 Gig AT TEeER] SAEEEE aeEed A1 gfi % 59 Ted 5 W &
w1k o wifee & R S oEE |

Historically, colonialism was a form of



SufrasmEr tfaefas w0 @ g ua =9 917

[Question ID = 1603][Question Description = 146_00_General_11_SEPT22_Q46]
1. Difference between the rich and the poor

g 3 mia % fie et

[Option ID = 6409]
2. Political one-upmanship

Tt ufaeral (SAsm=fmT)

[Option ID = 6410]
3. Resource appropriation

gayE fataam
[Option ID = 6411]
4. Racial distinetion

Feeradl e
[Option ID = 6412]

2) Read the passage and answer questions from 46 to 50

To start, we must recall what made historical colonialism distinctive. Colonialism was a form
of economic and social organization dominated by major colonial powers such as Britain,
France, Spain, and later the United states. It is now usually regarded as historieally closed,
ended by the decolonising movements of the later twentieth century, although in politics and
other areas, neocolonial forms of power live on. Now it is the continuity from the older
colonialism to a new form of colonialism — data colonialism. There were four key components
to historical colonialism: the appropriation of resources; the evolution of highly unequal
social and economic relations that secured resource appropriation, including slavery and
other forms of forced lahour as well as unequal trading relations; a massively unequal global
distribution of the benefits of resource appropriation; and the spread of ideclogies to make
sense of all this. For example, the reframing of colonial appropriation as the release of
natural resources, the government of inferior peoples, and the bringing of civilization to the
World. In deseribing the transformations underway today as data colonialism, we use the
term colonialism not because we are looking for a metaphor but because it captures major
structural phases within human history and specifically within capitalism. Colonialism has
not been the standard reading of what is changing in contemporary capitalism. Yet it is
becoming increasingly clear that capitalism’s current growth cannot be eaptured in terms of
ever-more ambitious business integration or the ever expanding exploitation of workers,



fr=fafas s = 92 it uv= 5@ 46 9 50 9% F I3 A5

&1 W o g9 T #e1 9nfee fE Ree ofaafas sufEmer @ ves samn | safreseEe arfds i
it Ted 1 0F w9 91, o w e, B, T ol ar 7 e S fefake v o aaa
w1 | offeet ol % sifem we § utETER - e F e 98 3w Aman w ofdafis w9 8
g g A 2, Tl el ol o= gEl A uft & e-suafs e el § ) 1 3w et g
sqfEvEr @ wfEme % 9u sv-sa svfveEr (v whEwmEs) § @ w fdaa 2 ) el
fawEE F 9 wgE gew 9 - H@EuE & AfEEm; senfis s amfe @ e wEd
Sfermm, Fm Zraan it s %9 =9 ¥4 % SAfaith AEaH =HE Hay, gage G & e
F HAafw w0 U swaE AfTaw e o 59 mEe Ay wud el Eenumed w5 ovan wive 9 )
serEnd, g FEreEl w Few e # =9 A sty fafam i gatem, Fee | A amn o
foara & mara @@ i whem | g Tm-suREvEE % e 4 adae § @ @ swaeon F o fom
JufEETE W F1 gAm gafee T8 # w FbifE 6 UF w9 i aam 8, afcs 78 9He sfEm F e
s fadm =9 & Gofiae % ofim s = i yufes 2 | IufEeEr g 9 @ g e @
i o e d Frafisda w2 1 e fi, = ot wma i wm 2 &
geiiam 1 Tdum g9y F1 g9 il qeeamRe SqEEaE eeEen 31 90w A9 Ted B 9 %
s o ynifem 8 o = wan |

The new area of colonialism relates to

gufasmems 1 F & FRad deEa 27

[Question ID = 1604][Question Description = 147_00_General_11_SEPT22_Q47]
1. Political power

T TR o

[Option ID = 6413]
2. Human slavery

LIEE RG]

[Option ID = 6414]
3. Unequal trade

S SR Y

[Option ID = 6415]
4. Data distribution

Eral o

[Option ID = 6416]



3) Read the passage and answer questions from 46 to 50

To start. we must recall what made historieal colonialism distinetive. Colonialism was a form
of economic and social organization dominated by major colonial powers such as Britain,
France, Spain, and later the United states. It is now usually regarded as historically closed,
ended by the decolonising movements of the later twentieth century, although in politics and
other areas, neocolonial forms of power live on. Now it is the continuity from the older
calonialism to a new form of colonialism — data colonialism. There were four key components
to historical colonialism: the appropriation of resources; the evolution of highly unequal
social and economic relations that secured resource appropriation, including slavery and
other forms of forced labour as well as unequal trading relations; a massively unequal global
distribution of the benefits of resource appropriation; and the spread of ideologies to make
sense of all this. For example, the reframing of colonial appropriation as the release of
natural resources, the government of inferior peoples, and the bringing of civilization to the
World. In describing the transformations underway today as data colonialism, we use the
term colonialism not because we are looking for a metaphor but because it captures major
structural phases within human history and specifically within capitalism. Colonialism has
not been the standard reading of what is changing in contemporary capitalism. Yet it is
becoming increasingly clear that capitalism’s current growth cannot be captured in terms of

ever-more ambitious business integration or the ever expanding exploitation of workers,

foerferfian ware = 96 S YT HEA1 46 U S0 °% o I AT |

gH W H g TR e e fF fRen ftefie snfievems @ oes aeen | sefrEwe anfde i
qmEifsF g7 1 oF w9 91, g B, 5, 99 e 9 § e $ fietate ofwl 5 aTe
@ | e g % fow e § SuaTEE-fand sEeE & w97 e Aman 9 tfaafis w9 8
EH §H1 A 2, TAh Ui #1 = aEl q wie & Fa-suiEhe e ol # ) 3= s s we
AR ¥ ITFEIERE & AU ®9-34 ITHEvERE (39 SUHEIER) & dn W R 2| tfeeias
IfETEE F AR wHE 9ew 9 - "@EuEl # At senfus s amfie g anfdw wmd
sefermm, frrd zraar ofit s o9 & 39 w91 % sifafcr swemm s gay, goae GiEm & e .
G sl w9 d ameE 3w B o sw gEe Ay s aefl Hemawet o wite 9
serEond, yrewfas dEneEl i Fdw e o w1 sinfafie fafam B gafsm, fee |l A g o
fora # wem @ f EET | ER Sa-3THETER F R J F9AW § 8 W s & ave & fo
FuFEvER weg F1 9Em gl T8 @ HiE 76 UF ¥ fl g 2, afew 78 aea sfeem % e
it T3 =9 & fofiae ¥ ftm graers o w wiE w2 | SuEE [ A w5 aess Feea
@ ¢ o omerela goftar O wn oofeds @ w2 ) e ofl, et s @ v dm w2
Gettare 1 adam g9fg F1 wig it geame SAEEiiE aoed a1 gfiE ® 539 Ted g W %
w1k o wifea @ R S owE |

Earlier, colonialism was defended on the pretext of

74 8 IufrEeE % R wee @ = B s e

[Question ID = 1605][Question Description = 148_00_General_11_SEPT22_Q48]

1.

2.

3.

Exploiting natural resources

T FEE # A

[Option ID = 6417]
Ideological spread

Farfts wan
[Option ID = 6418]
Globalisation of social order



4.

AT HET & Ay

[Option ID = 6419]

Structural adjustments

HIHATHS THETSH

[Option ID = 6420]

4) Read the passage and answer questions from 46 to 50

1.

To start, we must recall what made historical colonialism distinctive. Colonialism was a form
of economic and social organization dominated by major colonial powers such as Britain,
France, Spain, and later the United states. It is now usually regarded as historically closed,
ended by the decolonising movements of the later twentieth century, although in politics and
other areas, neocolonial forms of power live on. Now it is the continuity from the older
colonialism to a new form of colonialism — data colonialism. There were four key components
to historical colonialism: the appropriation of resources; the evolution of highly unequal
social and economic relations that secured resource appropriation, including slavery and
other forms of forced labour as well as unequal trading relations; a massively unequal global
distribution of the benefits of resource appropriation: and the spread of ideologies to make
sense of all this. For example, the reframing of colonial appropriation as the release of
natural resources, the government of inferior peoples, and the bringing of civilization to the
World. In describing the transformations underway today as data colonialism, we use the
term colonialism not because we are looking for a metaphor but because it captures major
structural phases within human history and speeifically within capitalism. Colonialism has
not been the standard reading of what is changing in contemporary capitalism. Yet it is
becoming increasingly clear that capitalism’s current growth cannot be captured in terms of

ever-more ambitious business integration or the ever expanding exploitation of workers.

fr=fafaa s & 92 ot yv= 5@ 46 9 50 9% & I A

71 W H g TR e difEe F e oftefas sfierEms @ aves aaen | sefEmes anfds i
it Ted 1 0F w9 a1, o w e, 5w, 99 ol ar 7 e S sfufakes v o S
@ | ofteef ol % oifom we § utETER-fnd aEeE F w97 W Amen w ofaafis 5 8
e g WA 2, Ty weEtfa o o dEl 8 uft § ae-sufafe v ol § ) 1w et g
v § sufEvEr & qu wu-za sufEveEr (a9 suREves) F dr w Fiaa ) ofrefas
favER % 90 e 92E 9 - "qaeE @ fGfEm; goafis gaem gt v s dadi =
Feferrmm, Fom Zraar ot sem 99 o 39 B9 % SAfaith AEHH AR Hay, garae G & e
U Fcafs #9 ° FOEH ATaw o S 58 Gee Sy hOH Jiel AaRame s yEn wiEe 9 |
serEnd, ghfas FETE 1 FE w9 F =9 6 oinfratie fafam f g, e | A e s
fara # wam @ H e | e Sa-IufEvER ¥ w9 § adaw § @ ®© sl # oave # fo
FUEvETE 9eg 1 9AM $HfT F@ L @ HifE g6 UF w9k il 9oy 2, dfew T2 gea sfaam w fia
it fag w9 & Tofiarg ¥ fiow o S i yufzd w2 | SufEEE 58 w9 @ e e
wiF o e d e a w2 1 fmd mafimfts mamamawme
Gefiar 1 adum g9y F1 g5d sl geemRel SEEfE aeEen 31 4w & A9 Ted g 9N &
s7d o wifea 781 R s | |

Data colonialism within the framework of capitalism is afan

el ) i % st Br-aufEr w37

[Question ID = 1606][Question Description = 149_00_General_11_SEPT22_Q49]
Ambitious businéss integration



5)

U HEcaThi4] SATTATa® ST

[Option ID = 6421]
Standard reading of changes in capitalism

Ol # gftedat 1 e e
[Option ID = 6422]
Reflection of workers' exploitation

gfee! = 90 1 gt

[Option ID = 6423]
Major phase in human history

o4 3famE | ggm =1

[Option ID = 6424]

Read the passage and answer questions from 46 to 50

To start, we must recall what made historical colonialism distinctive. Colonialism was a form
of economic and social organization dominated by major colonial powers such as Britain,
France, Spain, and later the United states. It is now usually regarded as historically closed,
ended by the decolonising movements of the later twentieth century, although in politics and
other areas, neocolonial forms of power live on. Now it is the continuity from the older
colonialism to a new form of colonialism — data colonialism. There were four key components
to historical colonialism: the appropriation of resources; the evolution of highly unequal
social and economic relations that secured resource appropriation, including slavery and
other forms of forced labour as well as unequal trading relations; a massively unequal global
distribution of the benefits of resource appropriation; and the spread of ideologies to make
sense of all this. For example, the reframing of colonial appropriation as the release of
natural resources, the government of inferior peoples, and the bringing of civilization to the
World. In describing the transformations underway today as data colonialism, we use the
term colonialism not because we are looking for a metaphor but because it captures major
structural phases within human history and speeifically within capitalism. Colonialism has
not been the standard reading of what is changing in contemporary capitalism. Yet it is
becoming increasingly clear that capitalism’s current growth cannot be captured in terms of
ever-more ambitious business integration or the ever expanding exploitation of workers.



fr=fafas s = 92 it uv= 5@ 46 9 50 9% F I3 A5

&1 W o g9 T #e1 9nfee fE Ree ofaafas sufEmer @ ves samn | safreseEe arfds i
it Ted 1 0F w9 91, o w e, B, T ol ar 7 e S fefake v o aaa
w1 | offeet ol % sifem we § utETER - e F e 98 3w Aman w ofdafis w9 8
g g A 2, Tl el ol o= gEl A uft & e-suafs e el § ) 1 3w et g
sqfEvEr @ wfEme % 9u sv-sa svfveEr (v whEwmEs) § @ w fdaa 2 ) el
fawEE F 9 wgE gew 9 - H@EuE & AfEEm; senfis s amfe @ e wEd
Sfermm, Fm Zraan it s %9 =9 ¥4 % SAfaith AEaH =HE Hay, gage G & e
F HAafw w0 U swaE AfTaw e o 59 mEe Ay wud el Eenumed w5 ovan wive 9 )
serEnd, g FEreEl w Few e # =9 A sty fafam i gatem, Fee | A amn o
foara & mara @@ i whem | g Tm-suREvEE % e 4 adae § @ @ swaeon F o fom
JufEETE W F1 gAm gafee T8 # w FbifE 6 UF w9 i aam 8, afcs 78 9He sfEm F e
s fadm =9 & Gofiae % ofim s = i yufes 2 | IufEeEr g 9 @ g e @
i o e d Frafisda w2 1 e fi, = ot wma i wm 2 &
geiiam 1 Tdum g9y F1 g9 il qeeamRe SqEEaE eeEen 31 90w A9 Ted B 9 %
s o ynifem 8 o = wan |

The passage is intended to make an assessment of

IYUH T 1 I29d TR U qoai e 27

[Question ID = 1607][Question Description = 150_00_General_11_SEPT22_Q50]

- Historical wrongs

tfverfaer mrerfaal

[Option ID = 6425]
2. (Civilisational changes

AT & qHEdq

[Option ID = 6426]
3+ The new form of capitalism

eftamg &1 Fa 'Y

[Option ID = 6427]
4. Benefits of resource appropriation

oy fafeEm & @y
[Option ID = 6428]
Topic:- 031_SEPT22_S1_PARTA
1) What is ILCI?
TS UEA 4] 73 (ILCI) #4901 2 7

[Question ID = 1303][Question Description = 101_31_LINGUISTICS_QO01]
1. Indian Ianguages corpora development project funded by TDIL

#1 €1 31 vel (TDIL) &/ fa 9iiye e v &RR1 (Corpora) HERH Tie=mn

[Option ID = 5209]



2. Nultilingual parallel corpora project funded by European Commission

[Option ID = 5210]
3. Indian languages Machine Translation project of Indian government

WA HEET ] JRATS T % AT ST i

[Option ID = 5211]
4. Speech technology intiative of India

T ) "V AT e

[Option ID = 5212]
2) TDIL programme of the Government of India supports
WRA B ) A 2 57 vl (TDIL) F1a%8 W 3341 2

[Question ID = 1304][Question Description = 102_31_LINGUISTICS_Q02]
1. Corpora development for Indian languages
et g 57 % fofu 719 (Corpora) =514

[Option ID = 5213]
2. Technology development for Indian languages

[Option ID = 5214]
3. Resource creation for Indian languages
AT W] % o0 FETH 5
[Option ID = 5215]
4. All of the ahove
AT E
[Option ID = 5216]
3)  Which one of the following 1= the correct full form of TPA?
oATE ol v (IPA) #0 faeqa 9 1 #41 Fadl 27

[Question ID = 1305][Question Description = 103_31_LINGUISTICS_QO03]
1. Innovative Phonetic Alphabet

gAdfza wHfe# s=Fee (Innovative Phonetic Alphabet)
[Option ID = 5217]
2. Interactive Phonetic Alphabet
gerfErd wHfeF s77F2 (Interactive Phonetic Alphabet)

[Option ID = 5218]
3. International Phonetic Alphabet



ST Hidleesh o2 (International Phonetic Alphabet)

[Option ID = 5219]
4. Internal Phonetic Alphabet

F2I9 FATF S7FA2 (Internal Phonetic Alphabet)

[Option ID = 5220]

4) In language acquisition studies, Mean Length of Utterance (MLU) 1z a measure which
computes the length of an utterance. MLU was introduced by

T TR segeE O f[ @ s e (MLU) U |19 2 o 3t 6 defan o s 8w ooe g #il
Tar o gro ey Fay v e @
[Question ID = 1306][Question Description = 104_31_LINGUISTICS_Q04]
1. ¥ictoria Fromkin
[Option ID = 5221]
2. Roger Brown

TS qT3A
[Option ID = 5222]
3. Jean Aitchison
1= v

[Option ID = 5223]
4. Don Tucker

B4 T
[Option ID = 5224]
5)  The process that refers to the merging of forms following the loss of inflections is known as
feraferai = i o gsTd B9 % faer ) g Fed 2
[Question ID = 1307][Question Description = 105_31_LINGUISTICS_QO05]
1. Concatenation

FHEA (Concatenation)
[Option ID = 5225]
2. (Coalescence
Af#1 (Coalescence)

[Option ID = 5226]

3. Syneretism

HESH (Syncretism)

[Option ID = 5227]
4 Qontraction

“%=+ (Contraction)

[Option ID = 5228]



6) The theory that explains the way a sound change moves through the vocabulary of a
language 1z called

Tareht sqren = gragi 4 eaia afEdq 1 snsrfae #21 gae frga ) & Fe 27

[Question ID = 1308][Question Description = 106_31_LINGUISTICS_QO06]
1 Lexical diffusion

M= fa9m (Lexical diffusion)

[Option ID = 5229]
2. Lexical convergence

STfieaeh 37195 (Lexical convergence)

[Option ID = 5230]
3. Lexacal overlapping

sTfsa #1fd=a1T (Lexical overlapping)

[Option ID = 5231]
4. Lexical diverzence

nfeas fa=e (Lexical divergence)
[Option ID = 5232]
7) The dictionary that provides information about the major stock of vocabulary of a language is
called
Tl e 9 s w9z % ey wEw o) SR 24 Arel 9sa 19 ) FE A6 2

[Question ID = 1309][Question Description = 107_31_LINGUISTICS_QO07]
1. Historieal dictionary

ufaiiae vrege19] (Historical dictionary)

[Option ID = 5233]
2. Encyclopaedic dictionary

fererriafia w1191 (Encyclopaedic dictionary)

[Option ID = 5234]
3. Pedagogic dictionary

iféae sT=a#191 (Pedagogic dictionary)

[Option ID = 5235]
4. Reference dictionary

Hey 972191 (Reference dictionary)

[Option ID = 5236]

8) The art and craft of dictionarv making 1s called as

STaEehTY T 2l Fell —F19T6 F Fad

[Question ID = 1310][Question Description = 108_31_LINGUISTICS_QO08]

1. Lexicology



yeZ# 9 f95A (Lexicologv)

[Option ID = 5237]

2. Lexicostatistics

51e8 Al (Lexicostatistics)

[Option ID = 5238]
3. Lexicography

9&Eehi91 4T (Lexicography)

[Option ID = 5239]
4. Lexlesgrammar

STea19fTd 597590 (Lexicogrammar)

[Option ID = 5240]
9  Who among the following ploneered the concept of dialect zeography?

fferfiga 4 4 % 211 3791 28 (dialect geography) HAUHM 1 ufdwre fan wwn?

[Question ID = 1311][Question Description = 109_31_LINGUISTICS_Q09]
1. William Labov and Joshua Fishman

faferm a7 30 Wi (William Labov and Joshua Fishman)

[Option ID = 5241]
2. Eugen Dieth and Havold Orton

3yfaH T292 3in #iez 3173 (Eugen Dieth and Harold Orton)

[Option ID = 5242]
3. George Wenker and Ferdinand Wrede

ATE T N EEAUE 72 (George Wenker and Ferdinand Wrede)

[Option ID = 5243]
4. Einar Haugen and Charles Ferguson

HIEF 7 3817 Fed T4 (Einar haugen and Charles Ferguson)
[Option ID = 5244]

10)  Computer processing of textual data is an example of

fetfie TTs & fars] @1 FUger Sram U Iaw
[Question ID = 1312][Question Description = 110_31_LINGUISTICS_Q10]
1. Unimodal processing
farea TR (Unimodal processing)
[Option ID = 5245]
2. Machine Translation
BIEES %441% (Machine Translation)

[Option ID = 5246]



3. Linguilstic transcription
T BT (Linguistic transcription)

[Option ID = 5247]
4. Bidimenslonal processing

fzpr gmfin (Bidimensional processing)
[Option ID = 5248]

11) For a Context Free Language L defined by a Context Free Grammar (. inherent ambizuity
1s exemplified when

wH e U L fom Hedes s Gogm wivafia safifea s e geem 2
[Question ID = 1313][Question Description = 111_31_LINGUISTICS_Q11]
1. astring in L. has =1 parse for every instance of G
L 7 ol T & Foo G 36 o e 1 =1 e = 2

[Option ID = 5249]
2. astring in L has =1 parse for atleast one nstance of G

L fodt Fn 1 G 3 s ) o sk T 8 >1 78 SgRe B

[Option ID = 5250]

3. G has incorrect rule-ordering
‘G wR AR gl 2
[Option ID = 5251]
4. astring m L has 1 parse for evervinstance of G
L el i 3 fon G % wedres gameaor 1 vg s 2

[Option ID = 5252]
12) EGIDS means

3 5fi 5112 €1 wm (EGIDS) #1 awed 2
[Question ID = 1314][Question Description = 112_31_LINGUISTICS_Q12]
1. Expansion Grade Intergenerational Disruption Seale
uFAIE U2 FEEqsHE fearud oA (Expansion Grade Intergenerational Disruption
Scale)
[Option ID = 5253]
2. Expanded Graded Intergenerational Disturbing Seale
uFEE 128 $2HIvHe f2fd %= (Expanded Graded Intergenerational Disturbing
Scale)

[Option ID = 5254]
3. Expanded Graded Intergenerational Disruption Scale
TEIIEE 122 FAIEE fEwe 6ol (Expanded Graded Intergenerational Disruption
Scale)

[Option ID = 5255]



4. Expansion Graded Intergenerational Distributing Secale

TREYE g2 STy @ﬁ{aﬁ:&'ﬂ T4+ (Expansion Graded Intergenerational
Distributing Seale)

[Option ID = 5256]
13) In a Nigeran language, the suffix go'/ko’ i1z used to mark proneminal possession as seen in
the following data (Kidda 1985)
log—go' bugat—lko'

tugad—go' aduk-—lo

Whach of the following statements is true about the distribution of 20'/ko’?

fepedi rasfifras s o 9eam go'/ko’ % ITAT SEAMHF Hay F T Zien 2 s & Fafatae ge o g
2 & (Frgen 1985)

loo—go' bugat—ko'
tugad—ego' aduk—ko'
Fraferfad 1 %1 W H94 go'fko’ & T & wWas o wefl 2
[Question ID = 1315][Question Description = 113_31_LINGUISTICS_Q13]
- They are allomorphs
3 FyEy (allomorphs) 2l
[Option ID = 5257]
2. They are independent morphemes
¥ 47 (74 (morphemes) 7|

[Option ID = 5258]
3. They are appearing as free-variations

3 uyen i & &9 O YR &6 2

[Option ID = 5259]
4. none of the above

[Option ID = 5260]
14) Which one of the following statements is a correct explanation of ‘sound symhbolism’ in
lanzuage?
TferiEs % =i o1 %29 9 § S A -udisar. (sound symbolism) =it S =T 27
[Question ID = 1316][Question Description = 114_31_LINGUISTICS_Q14]
1. A perfect symbolism
qui yefeFaTE (a perfect symbolism)

[Option ID = 5261]
2. Metaphor in lansuage



U191 4 57 (metaphor in language)

[Option ID = 5262]
3. The constituent sounds of a word suggest 1ts medmng

el 31 =1 HaeE WM (constituent sounds) 1 $HF Y | 590 2

[Option ID = 5263]
4. A system of symbaols that 1= sound

[Option ID = 5264]
15) What do the names Washoe, Koko. Nim and Kanzi vefer to?

Arl (Washoe), F1#! (Koko), F8 (Nim) #W %7 (Kanzi) AMi %1 a9 #4 27
[Question ID = 1317][Question Description = 115_31_LINGUISTICS_Q15]
1. Seripts of endangered languages
[EGEREREIE AR

[Option ID = 5265]
2. Machine Translation programs

[Option ID = 5266]
3. Apes who learned =ign language

SHIAY (Ape) T Hehn vy Hivan

[Option ID = 5267]
4. Renowned psycholinguists

apifir i

[Option ID = 5268]

16) Wha was the first to use the term “Inde—European’™
Hewen g - 9w W FA T Fefefiad § #a 27

[Question ID = 1318][Question Description = 116_31_LINGUISTICS_Q16]
1. Wilham Jones

farfergu st
[Option ID = 5269]
2. Thomas Young
g 99
[Option ID = 5270]
3. Max Mueller
LERRE T

[Option ID = 5271]
4. Rudolf Ross



=2 1
[Option ID = 5272]

17) Which ane of the following is the correct place and manner of articulation of the speech

sound /g/ 7

Freferfian o =9 ave e (71| #1 w=w s A 27

[Question ID = 1319][Question Description = 117_31_LINGUISTICS_Q17]
1. Voiceless aspirated velar stop

[Option ID = 5273]
2. Yoiced palatal stop

=19 dTete O

[Option ID = 5274]
3. Voiced unaspirated velar stop
=T e shad o7

[Option ID = 5275]
4. Vaoleeless retroflex stop

T = e
[Option ID = 5276]
18) Which of the following tyvpes of formal grammars do not figure in the Chomsky Hierarchy?
fryferiiaa 0 = vl (Chomsky Hierarchy) H ¥YTFF: SUya0] 1 314 &1 W 98] 27

[Question ID = 1320][Question Description = 118_31_LINGUISTICS_Q18]

' Unrestricted Phrase structure Grammar

SUTerare Ygas JrEA] saTE) {Unrestricted Phrase structure Grammar)

[Option ID = 5277]
2. (Context Free Grammar

Had et & 1# (Context Free Grammar)

[Option ID = 5278]
3. Regular grammar

it =01 (Regular grammar)

[Option ID = 5279]
4. Transformational Grammar

AT #%27 (Transformational Grammar)

[Option ID = 5280]

19) Which one of the following is a correct set of four parts of speech (pada) according to the
Sanskrit grammarians?



s AT o P & sigEn Fefafea T e e (9) Faged w1 aad 20

[Question ID = 1321][Question Description = 119_31_LINGUISTICS_Q19]
1. pratipadika. sam@sa. sandhi. nipata

ufenmie, Tam, af=E, Fom

[Option ID = 5281]
2. krta, taddhita,samasa, nipata

Fd, dfan, =, e

[Option ID = 5282]
3. nama. akhyata. upasarga. nipata

A, siegr, 3w, B

[Option ID = 5283]
4. krta, pratipadiksa, samasa, sandhi

el ufeiieeh, T, wfE

[Option ID = 5284]

20) The concept Zone of Proximal Development (ZPD) was proposed by

Tatefas 4 fFa & gm dF =20 aiFages Saede” sTasmon 1 Ufdaared fE e

[Question ID = 1322][Question Description = 120_31_LINGUISTICS_Q20]
1. Lev Vyzotsky

EEREIGEES
[Option ID = 5285]
2. Larry Sehnker
[Option ID = 5286]
3. Robert Lado

e emE

[Option ID = 5287]
4. Stephen Krashen

T FE

[Option ID = 5288]

21) Which article of Indian Constitution stipulates that the official language of the Union shall
be Hindi in Devanagari seript?

qeft AT & o see O 2w afamiaa e e 2 o a4 e gaavd fafi o fa=h ani?

[Question ID = 1323][Question Description = 121_31_LINGUISTICS_Q21]

1. 343
[Option ID = 5289]
2. 344

[Option ID = 5290]



3. 345

[Option ID = 5291]
4. 546

[Option ID = 5292]
22) The concept ‘deixis’ refers to

Tt o 1 seamoom 7 A #
[Question ID = 1324][Question Description = 122_31_LINGUISTICS_Q22]
1. SBpatial dimension of a situation
fepadi wfrsafa = Fem ey

[Option ID = 5293]
2. Both spatial and temporal aspects

[Option ID = 5294]
3. Temporal aspect of an expression

Fore et o1 F = TRe]

[Option ID = 5295]
4. Movement of an object in space and time

fopedl e 1 2 i HHA O e

[Option ID = 5296]

23) In dictionary makine. the meaning of an entry word is expressed in another single word both
of which are non-descriptive. This phenomenon is known as

I1ee 19 T H uiae vee i 3 e vee o aifaegers B e @ o S sraviArass B 2| =g fEfa
[Question ID = 1325][Question Description = 123_31_LINGUISTICS_Q23]

1. Run-on entry

’:{Tr;'fﬁﬁ ufaf2 (Run-on entry)

[Option ID = 5297]
2. Cueularity

At (Circularity)

[Option ID = 5298]
3. Labeling

A4 (Labeling)

[Option ID = 5299]
4. Crozs-reference

ey {(Cross-reference)

[Option ID = 5300]

24) The code used in relatively formal. educated situation not to be reliant for its meaningfulness
ol extralinguistic contexts 1s referred to az



ST s, fofad afee g we w9 s st a1 v s A g 4 e

Fede

[Question ID = 1326][Question Description = 124_31_LINGUISTICS_Q24]
1. Elahorated code

f’d’-’:’ﬁ'f‘! HE (Elaborated code)

[Option ID = 5301]
2. Restricted code

Hifird 12 (Restricted code)

[Option ID = 5302]
3. Langue

i (Langue)

[Option ID = 5303]
4. Speech repertoire

ofig 19F (Speech repertoire)

[Option ID = 5304]

25) The linguistic svstem of an individual speakeris called

aafer ferar =1 anrrfl Sl =) e 2
[Question ID = 1327][Question Description = 125_31_LINGUISTICS_Q25]
1. Familylect
¥ fiaefiotae (Familylect)

[Option ID = 5305]
2. Seciolect

HifsETa2 (Socioleet)

[Option ID = 5306]
3. Idiolect

=i 471 (Idielect)

[Option ID = 5307]
4. Dialect

d@lell (Dialect)

[Option ID = 5308]

26) Which one of the following iz a correct descrption of abhidha?

s g #9998 guE §7

[Question ID = 1328][Question Description = 126_31_LINGUISTICS_Q26]

1. It is an implied meaning of word

77 weg ) Tafeand &

[Option ID = 5309]



2. Ttis a divect meaning of word

T STea &1 Wiy 1 2
[Option ID = 5310]

3. Tt is an intentional meaning of word

[Option ID = 5311]
4. Tt is a suggested meaning of word

I 9168 & Ao 34 2

[Option ID = 5312]

27) The past tense form “went” is an instance of

Tofen =1 ATet ¥ “went” IV 2

[Question ID = 1329][Question Description = 127_31_LINGUISTICS_Q27]
1. Zero morpheme

B %74 (Zero morpheme)

[Option ID = 5313]
2. Suppletive morpheme

#afgsfi = (Suppletive morpheme)

[Option ID = 5314]
3. Peortmantean morpheme

T =199 (Portmanteau Morpheme)

[Option ID = 5315]
4. Discontinmous morpheme

#Had =me (Discontinuous Morpheme)

[Option ID = 5316]

28) A form of a verb capahle of occurring on its own 1n a sentence and must be marked for tense

15 ealled
Fereft v 4 T o1 vk B ) 9@ O 8§ 30w 2 3 o e o) g sifea o 9 A s Fa 2

[Question ID = 1330][Question Description = 128_31_LINGUISTICS_Q28]
1. Auxiliavy verb

e fFa) (Auxiliary verb)

[Option ID = 5317]
2. Finite verh

A% 3 (Finite verb)

[Option ID = 5318]
3. Infinitives

sAfaia fFamE (Infinitives)

[Option ID = 5319]



4. Non-finite verb
T fn (Non-finite verb)
[Option ID = 5320]

29)  The seminal article “Two models of grammatical description” published in 1954 1= written by

1954 3yl 9ifee +1% “Two models of Grammatical Description”™ # &% 2 :
[Question ID = 1331][Question Description = 129_31_LINGUISTICS_Q29]
1. R. Jackendoff

3T, FHETF (R. Jackendoff)

[Option ID = 5321]
2. C.F. Hockett

i v, #1542 (C.F. Hockett)

[Option ID = 5322]
3. M. Joos

TH. 5 (M. Joos)

[Option ID = 5323]
4 R.H. Robins

3.0, Af= (R.H. Robins)

[Option ID = 5324]

30) The Nihali language spoken in Central India is
g R o afefl o avel FHere g Hefefag O e a7

[Question ID = 1332][Question Description = 130_31_LINGUISTICS_Q30]
1. an artificial language

'?:Tf_:ITI a1l (Artificial language)

[Option ID = 5325]
2. apidgin

itz g (Pidgin)

[Option ID = 5326]
3. anisolate

faasre (isolate)

[Option ID = 5327]
4. acreole

T {Creole)
[Option ID = 5328]
31) The seminal article published 1n 1934 titled “The Phonemic Principle” 1= written by

1934 1 Y=119rd Yee]vi #7d “The Phonemic Principle” % #/d# # :



[Question ID = 1333][Question Description = 131_31_LINGUISTICS_Q31]
1. K. Pike

#. T (K. Pike)
[Option ID = 5329]
2. E. Sapir
£, 77 (E. Sapir)

[Option ID = 5330]
3. M. Swadesh

g, = (M. Swadesh)

[Option ID = 5331]
4. W.F. Twaddell

Zoeq . 7412+ (W.F. Twadell)

[Option ID = 5332]
32) ek ‘aks’ 1= an example of

‘ask’ —> ‘aks’ TR 7

[Question ID = 1334][Question Description = 132_31_LINGUISTICS_Q32]

- Epenthesis

Hiufatem (Epenthesis)
[Option ID = 5333]
2. Aetathesis
avf -ferrdy (Metathesis)

[Option ID = 5334]
3. Assimilation

HUTFT (Assimilation)
[Option ID = 5335]
4. Dissimilation
fawdirrul (Dissimilation)

[Option ID = 5336]

33) What iz CDS synonymous with?

i & v w1 gaEef = 27

[Question ID = 1335][Question Description = 133_31_LINGUISTICS_Q33]
1. Mother tongue

419 (Mother tongue)

[Option ID = 5337]
2. Communication disorders



Tl #1fd#H (Communiecation disorders)
[Option ID = 5338]
3. Mothereze
qigdi+ (Motherese)

[Option ID = 5339]
4. Speech database

EIEH SEiEes (Speech database)

[Option ID = 5340]

34) What is the ecapturing of near equivalent sense of Source Text (ST) by Target Text (TT)
known as?
HIA W13 H A4 T3 1 ey wae 359 34 %1 w0 wed 89
[Question ID = 1336][Question Description = 134_31_LINGUISTICS_Q34]
1. Transliteration
feredam (Transliteration)

[Option ID = 5341]
2. Fidelity

a0 (Fidelity)
[Option ID = 5342]
3. Transcreation
%A (Transcreation)

[Option ID = 5343]
4. Intralingual Translation

AT #49E (Intralingual Translation)

[Option ID = 5344]

33) Which of the following examples is the most suitable for laksana?

Frferfizra 4 oA o = qaifas 30gw Famwm 27

[Question ID = 1337][Question Description = 135_31_LINGUISTICS_Q35]

1. The soldiers are entering with swords

A dTeEN F W9 Y99 91 78 & | (The soldiers are entering with swords)
[Option ID = 5345]
2. The swords are entering
AT U9 #1771 2 | (The swords are entering)

[Option ID = 5346]
3. The swords are shining

AN =95 7% # | (The swords are shining)

[Option ID = 5347]

4. The swords are made of metals



A 91 [ #1 (The swords are made of metals)

[Option ID = 5348]

36) Which one of the following approaches to language study aims at mapping the change in
lanzuage?

Tregferfia o A ses =) =7 = gl g 4 giads # giafm Fwm 27
[Question ID = 1338][Question Description = 136_31_LINGUISTICS_Q36]
1. Svnchronie study

quFioF 9799 (Synchronic study)

[Option ID = 5349]
2.  Diachronic study
FIeAFHMF 315994 (Diachronic study)

[Option ID = 5350]
3. Tvpological study

gl 319994 (Typological study)
[Option ID = 5351]
4. Area] study
ArfT 37979 (Areal study)

[Option ID = 5352]

37) In the sentence, Raju looked at himself in the mirroy’, what iz the antecedent?

‘Raju looked at himself in the mirror’ I 5 9995 (antecedent) #1127
[Question ID = 1339][Question Description = 137_31_LINGUISTICS_Q37]
1. Raju

[Option ID = 5353]
2. Looked

[Option ID = 5354]
3. Himself

[Option ID = 5355]
4. AMirror

[Option ID = 5356]

38 . e T ; . .
) Which one of the following 1= a common inherent verbal eatezory whose function 1= to

highlisht the internal temporal unfolding of the predication?

faeferfaa o i auE swAERa G =9 % 9ol d 2 Freer sl st FTeEms TaFeE & 9% 27
[Question ID = 1340][Question Description = 138_31_LINGUISTICS_Q38]

. Tense

#Iel (Tense)

[Option ID = 5357]
2. Aspect



T4 (Aspect)

[Option ID = 5358]
3. Mood

aft (Mood)

[Option ID = 5359]
4. Gerund

fead® 54 (Gerund)
[Option ID = 5360]
39) The classic research paper titled “Where 1s morphology”™? published in 1982 is written by :
1982 H WaIleTd 3508 9T 7 “Where is Morphology?” & olig# & :
[Question ID = 1341][Question Description = 139_31_LINGUISTICS_Q39]

1. P.H. Matthews

di.r=. des (P.H. Matthews)

[Option ID = 5361]
2. P Kiparsky

. frazf) (P. Kiparsky)

[Option ID = 5362]
3. ML Aronoff

g, WEAE (M. Aronoff)

[Option ID = 5363]
4. S.R. Anderson

0H_ A1, U= (S.R. Anderson)
[Option ID = 5364]
40) “Squish’. a term which refers to a continuum along which lexical items can be placed. 1s
introduced by :
“Squish”™ W& HideF H Hafva ¢ Fores o s1edi 1 1&n o1 ghd1 2, 20 glamed Frek g R

[Question ID = 1342][Question Description = 140_31_LINGUISTICS_Q40]

1. Gregory T. Stump

T . ¥4 (Gregory T. Stump)

[Option ID = 5365]
2. John Robert Ross

4 712 7783 (John Robert Ross)
[Option ID = 5366]
3. Martin Haspelmath
H1f¥s 209 (Martin Haspelmath)

[Option ID = 5367]
4. Ingo Plag



1 7 (Ingo Plag)

[Option ID = 5368]

41) “The market ‘boomed” after the resurgence”, In this sentence the word “boomed 1=

(A) Primary Onomatopoeia
(B) Secondary Onomatopoera
(C) Ideophone

(I Sound symbolic expression

(E) Both ideophone and onomatoposia

Choose the correct ansgwer from the options given below :
“The market boomed™ after the resurgence”, J# 1 “boomed” 983 F1 27
(A)  THEIE S
®)  Tadrr sy
(€) i
(D) AN Tt sfysaf

(B)  HAREEER 51 SHe e

1 e o Teaeti 1 9 68 370 1 =9 fifsu
[Question ID = 1343][Question Description = 141_31_LINGUISTICS_Q41]
1. (A) and (B) only
Fae (A) =1 (B)
[Option ID = 5369]
2. {A)and (C)only
FF6 (A) HF (C)
[Option ID = 5370]
3. (B) and (D) cmly
Fael (B) 3 (D)

[Option ID = 5371]
4. (E) and (A) only

F9 (E) 371 (A)

[Option ID = 5372]



42) In the pre—machine learning phase of Artificial Intelligence (AI), which of the following

programming lanzuages were popularly used?

(A Java

(B) Visual Basic
(C) Prolog

(D Lisp

(E) Perl

Choose the correct answer from the options given below :
e 9 & @ ) annf e sfd e 2 fasm AD % wuim @ gd #e g sm dwwm
STl i T
(A) A (Java)
(B) s w4 (Visual Basic)
(C)  °re (Prolog)
(D) o (Lasp)

(E) 76 (Perl)

At Teu o faepedr 4 8 5l 39 1 = i

[Question ID = 1344][Question Description = 142_31_LINGUISTICS_Q42]
1. (4) and (E) only

F4 (A) #1 (E)
[Option ID = 5373]

2. (A)and (B) only

Fde (A) 37 (B)

[Option ID = 5374]
3. (C)and (D) only

g (C) 31 (D)

[Option ID = 5375]
4. (B)and(E) only

A7 (B) 51 (E)

[Option ID = 5376]



43)

Language revitalization invelves

(A) Community mobilization
(B) Linguistic landscaping

(C) Language documentation
(D) EKnowledge text generation

(E) Language standardization

Choose the most appropriate answer from the options given helow :

T S A E e #
&) HmE, e
(B) il o -ufrg
(C)  umPEl gerEE

@) I TEW G

(Ey  amrh arefiam

it feu o fased § | Ga 399w 391 #1 =44 Hifam

[Question ID = 1345][Question Description = 143_31_LINGUISTICS_Q43]
{A) and (B) only

1.

2.

3.

4.

A (A) #1(B)

[Option ID = 5377]
(B) and (D} only

Faet (B) 3T (D)

[Option ID = 5378]

()

and (D) only

FAw (C) T (D)

[Option ID = 5379]
(D) .and (E) only

g (D) 31 (E)

[Option ID = 5380]



44)

(A)
By
(C)
(D)
(E)

Some of the demographic variables considered in =octolinguistic studies include

Age
Migration
Gender
Field

Tenor

Choose the most appropriate answer from the options given below :

HETHA Ao A= H o Salerhe =9 W famm G = 2, &4 i 2

(A)
(B)
(C)
(D)

(E)

E10)
Beic]
.
CE

ELn D

e fao au fagel 1 3 gepd 379 399 = Fifao

[Question ID = 1346][Question Description = 144_31_LINGUISTICS_Q44]
(B) and (D) only

1.

2.

3.

4.

#ad (B) 311 (D)

[Option ID = 5381]
tA) and (C) only

A (A) 37 (C)

[Option ID = 5382]
(A) and (E) only

F9e (A) 1 (E)

[Option ID = 5383]
(€C) and (E) only

F4d (C) 3 (E)

[Option ID = 5384]



45)  In Generative Phonology Paul Kiparsky introduced two ordering relations. They are

(A) Underlying order
(B) Feeding order

(C) Bleeding order
(DY  Endocentric order

(E) Co-ordinate order

Choose the correct answer from the options given below :
e fararrel 3 wema waaufEn 0 31 i ey afaf ) a2
(A) qe TS (Underlying order)
(B) qTU] 37TE {Feeding order)
(C) ERCLf (Bleeding order)
(D) A Flzd A2 {Endacentric order)

(E)  #yMTad 3157 (Co-ordinate order)

41 Tzu o Tame 4 8 98 39 %) =94 Hiren

[Question ID = 1347][Question Description = 145_31_LINGUISTICS_Q45]
1. (A) and (B) only

M (A) 31 (B)

[Option ID = 5385]
2. (B)and (C) only

A (B) 31 (C)

[Option ID = 5386]

3. (B) and (E) only
Fad (B) 31 (E)
[Option ID = 5387]

4. (C)and (D) only

FH (C) 371 (D)

[Option ID = 5388]



46)

[Question ID = 1348][Question Description = 146_31_LINGUISTICS_Q46]
1.

2.

4.

Important rubrics of SPEAKING are

(A)
(B)
(<
(D)
(E)

Choose the most appropriate answer from the options given below :

Gender
Community
Setting
Motivation

End

‘SPEAKING' #i1 g fagmam #
(A) = (Gender)

(B)  #F4dl (Community)
(C)  #imn (Setting)

(D)  UIHTE (Motivation)
(E) UZ (End)

A fau T Tl 0 6 A I 39 1w i

(A) and (C) only

FAe (A) 1 (C)

[Option ID = 5389]
(C) and (E) only

Fad (C) *W (E)

[Option ID = 5390]
3. (B) and (E) only

Fad (B) #1 (E)

[Option ID = 5391]
(C) and (D) only

Fad (C) #1 (D)

[Option ID = 5392]



47) The sentence “The President could not ratify the treaty” can be labelled as

(A) [The President] sp [could],; [not ratify the treaty] o
B [Thelg. [President could],m [not ratify the treaty] o
(C) [The President could]yp [notlige [ratify the treaty]
(D) [The President]yp [could not]u [ratify the treaty] ¢

(E) [The President could not ratifylyy [the treaty]
Choose the corvect answer from the options given below :

“The President could not ratify the treaty” 91 i1 fa=fefas =94 guia «n #@Fm 21

{A) [The President] z [could],; [not ratify the treaty]»
(B) [Theln,, [President could],p [not ratify the treaty] o
(C) [The President could]yp [notlize [ratify the treaty]
(D) [The President],n [could not]u [ratify the treaty] +»

(E) [The President could not ratify]yp [the treaty] yp

A= T o faret 8 & w5l 3o =61 =rm fif

[Question ID = 1349][Question Description = 147_31_LINGUISTICS_Q47]
1. (B) and (E) only

F4 (B) 3t (E)
[Option ID = 5393]
2. (B)and (C) only

F9w (B) 30 (C)

[Option ID = 5394]
3. {A) and (D) only

Faw (A) 31 (D)

[Option ID = 5395]
4. (C) and (D) only

#ae (C) #h (D)

[Option ID = 5396]



48)  Proto Indo European (PIE) related excavations at Catal Huyuk in Turkey by James Mellart

have found evidences of

(A) Hunting

(B) Fertility rites
(C)  Mud bricks
() Trade

(E) Marriage ceremony

Choose the correct answer from the options given below :
e e grer e o s €21 g (o wd &) @ v fore gard 8 i &t s s fct 3 -
(&) To=n FE
(B)  WSieH HaH HIETH

)y Thfis
(D) =T

(E) Taam oo

Jre few e el 4 3 g o o = e

[Question ID = 1350][Question Description = 148_31_LINGUISTICS_Q48]
1. (A) and (B) only

F4 (A) 31 (B)

[Option ID = 5397]
2. (C)and (D) only

#4 (C) 317 (D)
[Option ID = 5398]
3. {A). (B). (C) and (D) only
#ad (A). (B). (C) = (D)
[Option ID = 5399]
4. (B) and (E) only

#9el (B) 3 (E)

[Option ID = 5400]



49 ) : .
) Difference between a dialect and a language 13 generally made on the grounds of

(A) Individual choice and community preferences
(B) Lexical database and phonological properties
(C) Sacio-graphical location and linguistic features
(D) Public opinions and administrative decisions

(E) Historical records and ethnographic evidence
Choose the correct answer from the options given below :

AT 31 9T = 5T e averre e fafea aram e e 2

(A) =T = T EgETaE st
By wnfege ey il

(€)  HErs -t & i g et
(D) =M TE 3R wEnEEE

(E)  fdemfass siaera sfn arasnta we

i v famredi 4 5 o 39 = == fifem
[Question ID = 1351][Question Description = 149_31_LINGUISTICS_Q49]
1. (A) and (B) only

Fael (A) 3717 (B)

[Option ID = 5401]
2. (D) and (E) only

H4e1 (D) 31 (E)

[Option ID = 5402]
3. {B) and (C) only

4 (B) 31 (C)

[Option ID = 5403]
4. (C)and (D) only

FHe (C) 3 (D)

[Option ID = 5404]



50)  paul Grice outlined four kev categories or maxims of conversation. These are:

{(A) Spatality and dimension
(B) Quality and guantity

(< Coheslon and coherence
(D)  Relation and manner

(E) Information and representation

Choose the most appropriate answer from the options given below :
e WTEH A Ardterd I 9w wgE Afor swen g e d, 92

(A) i 3R R

(B)  I[UIEHAT 1T YA
(C)  Hega 3N andsre

(D) =iy aw Af

(E)  H=1 i ufa e

7l fau i feasredi 0 § Ha8 IR 377 1 99 HifE

[Question ID = 1352][Question Description = 150_31_LINGUISTICS_Q50]
1. {A) and (B) only

Fa (A) #1 (B)

[Option ID = 5405]
2. (B)and (D) only

#a (B) #7 (D)

[Option ID = 5406]
3. (B) and {E) only

Faw (B) #1 (E)

[Option ID = 5407]
4. (A} and (E) only

A (A) 31 (E)

[Option ID = 5408]



51) Metaphor 1s essentially a relation between two conceptual domains. These domains are

(A) Source domain
(B) Target domain
(C)  Soecial domain
(D)  Cultural domaimn

(E) Discourse domain
Choose the most appropriate answer from the options given below :

O AT 9 H G SaaReeRT 41 &1 TR e R, 4 A

(A)  HIF
B) @&y

(C) @il @4
D)  wEFfas &

(E)  wad e

1 fa o femedl 8 5 e 30 S 1 = A

[Question ID = 1353][Question Description = 151_31_LINGUISTICS_Q51]
1. (A) and (D) only

Fd (A) 317 (D)
[Option ID = 5409]
2. {B)and (D) only
+4e (B) 3% (D)
[Option ID = 5410]
3. (A) and (B) only
A (A) H1 (B)

[Option ID = 5411]
4. (C) and (E) only

Fae (C) A (E)

[Option ID = 5412]



32) Two of the following words belong to the category of ‘function word'. They are :

(A) Unaverse

(B) And
(C) Green
(D)  Write
(E)  After

Choose the correct answer from the options siven below :
T ferfign wredl § 3 21 werrd vree i1 4of 3 Hafaa 13 8

(A) TUniverse

(B) And
(C) Green
(D)  Write
(E) After

Fr= fau o Tl 0 4 @8 39 & 999 Fifa

[Question ID = 1354][Question Description = 152_31_LINGUISTICS_Q52]
1. {A)and (C) only

+HEe (A) #HN (C)
[Option ID = 5413]

2. (D) and (E) only
961 (D) 3N (B)

[Option ID = 5414]
3. (B)and (E) only

Fad (B) 31 (E)
[Option ID = 5415]
4. (B) and (D) only
Fae (B) 31 (D)

[Option ID = 5416]

53) Identity the correct pair of authors who authored the book “The theory and practice of

translation”,

(A) C. Tabher
iB) J. Beeliman
(Cy E.A Nida
(D) W. Zydatiss
(E) M. Baker

Choose the correct answer from the options given below :



(A) Hl. @R

B) . A

(© du A

(D) =ocy. AzEifew
(E) UH. HH

7 fao 7o ferent | 4 WAl 390 ) = e s
[Question ID = 1355][Question Description = 153_31_LINGUISTICS_Q53]
1. (A) and (E) only

F6 (A) 31 (E)
[Option ID = 5417]
2. (B) and (C) only

F4e (B) #F (C)
[Option ID = 5418]
3. () and (A) only
Faa (C) #H (A)
[Option ID = 5419]
4. (D) and (A) only
Fae (D) 31 (A)
[Option ID = 5420]
54) Read the following statements:
(A) FUG 1s Function Unification Grammar
B) HPSG 1s Head-driven Phrase Structure grammar
() LFG is Lexicalist Function Grammar
(D TAG 1s Tree Attributive Grammar

(E) GPSG 1= German Phraze Structure Grammar

Choose the correct answer from the options given below :



e ferfian gaea) = 7 —

(A)  uE A, FE TR R

(B)  wH i v i, w2-feaa e ey a2
(C)  US U Hl, SAfgariers HeH O 2

@)  AuH, A oo oEr 2
E) 50w S, S e O R

19 feu e fawed] 4 @ |5 300 =0 =419 fifem ;

[Question ID = 1356][Question Description = 154_31_LINGUISTICS_Q54]
1. {A)and (C) only

F4E (A) 3 (O)
[Option ID = 5421]
2. (B) and (D) only

*dd (B) #1 (D)

[Option ID = 5422]
3. (A) and (B) only

Fad (A) 31 (B)

[Option ID = 5423]
4. (D) and (E) only

Fae (D) 3 (E)

[Option ID = 5424]

55) Binary semantic features are those which come naturally in pairs,
(A) [male] and [female]
(B) [anmimate] and [inanimate]
(0 [white] and [zray]
(D [zlow] and [static]

(E) [ncon] and [afterncon]

(hoose the most appropriate answer from the options given helow :



oo sraand forwaran farfireemd 3 # sit wvesferes =0 & qm i s #
(A) 79 [male] #V =i [female]

(B)  #4E [animate] 37 9 [inanimate]

(C)  ¥ad [white] 311 40 [gray]

(D) =T [slow] 31 & [statie]

(E) 2987 [noon] 31 37174 [afternoon]

= Tavam fasel 4 6wl 30 1 = i
[Question ID = 1357][Question Description = 155_31_LINGUISTICS_Q55]
(C) and (D) only
Faet (C) #iT (D)
[Option ID = 5425]
2. (A)and (B) only
Fg (A) 37 (B)

[Option ID = 5426]
3. (B)and (C)only

Faa (B) 31 (C)

[Option ID = 5427]
4 (D) and (E) only

e (D) =i (E)

[Option ID = 5428]

56) The English word ‘cook” can be an example of the following :

(A) A noun

(B)  An adjective
(C) An adverb
Dy Avwerb

(E) A postposition

Chorise the correct anawer from the options given below :



Hirsll 7152 ‘cook’ Fefefiad =1 Zgmm &1 W #

A) =M

(B)  fagrm

(C)  Toren My
D)

(E) o

A Tau o feaeredi O 9 ol 3o = = Firfsm
[Question ID = 1358][Question Description = 156_31_LINGUISTICS_Q56]
1. (A) and (C) only
Fde] (A) 317 (O)
[Option ID = 5429]
2. (A) and (D) only
F4e (A) ¥ (D)

[Option ID = 5430]
3. (B) and (E) only

Fae (B) 31 (E)

[Option ID = 5431]
4. (C) and (E) only

Fdwl (C) 31 (E)

[Option ID = 5432]

57) Identify the cases from the options given below :

(&)  Ablative
{(B)y  Active

() Affirmative
(D)  Appheative

{E) Accusative

Chooze the correct answer from the options given helow :



1 o ovad et 1 4 el 1 10

(A) H9EH *F (Ablative)

(B)  fowramfia (Active)

(C) HFITrES (Affirmative)

(D)  WETSHTES (Applicative)

(E) FHFFF (Accusative)

== feam o el | 3 | 3 %0 991 e

[Question ID = 1359][Question Description = 157_31_LINGUISTICS_Q57]
1. (C) and (E) only

4 (C) 317 (E)
[Option ID = 5433]

2. (A) and (E) only

Hae (A) #N(E)
[Option ID = 5434]

3. (A) and (D) only
%47 (A) 3 (D)

[Option ID = 5435]
4. (B) and (E) only

F99 (B) 37 (E)

[Option ID = 5436]

58) . — . . . .
The politeness principles. aceording to Leech. ave formulated wath the following maxims

(A) Setting, situatlon. participants

(B)  Interaction. mediation. attachment
(C Tact. generosity. approbation

(In Modesty. agreement. sympathy

(E) Involvement. relation. solidarity

Choose the most appropriate answer from the options given helow :



e o S TenEEaE fgra ) Hetaten gfe 3 dam oo
(&) A=A, oty weaef

(B) W HAY, HER, ST

(C)  =HEER HITe, FETAI, ST eI

(D)  foren, swen, HEHYE

(E)  HeRm, Ha49, U

41 fau o fasredi 4 8 w1 3 #1 = fifsw

[Question ID = 1360][Question Description = 158_31_LINGUISTICS_Q58]
1. (A)and (D) only

Fa (A) 31 (D)

[Option ID = 5437]
2. (B) and (E) only

Fae (B) W (E)
[Option ID = 5438]

3. (C) and (D) only
FAd (C) 3 (D)
[Option ID = 5439]

4. (C) and (E) only
Fad (C) =17 (E)

[Option ID = 5440]

59) Two notable dichotomies proposed by F.de. Saussure are —

(A) Etic and Emic funetion

{B) Langue and Parole

(Ch Spht and Merzer

(D)  Syntagmatic and Paradigmatic relations

(E) Speech repertoire and Verbal repertoire

Choose the correct answer from the options given below :



1.

i, E . FEE I ST 9 ee FEeE 2

(A)
(B)
()
D)

(E)

ufds (Etic) 1 UfdF (Emic) THH

“ (Langue) #17 Hi& (Parole)
feursm (Split) +j1 faera (Merger)
Ta=m Fareas 3 B s day

ATk 9T N S ararE

4t feu m faseal 4 4 |8 3o %1 99 Fifw

[Question ID = 1361][Question Description = 159_31_LINGUISTICS_Q59]

(A) and (B) only

Fae (A) 3111 (B)

[Option ID = 5441]

(C) and (D) only

#Faw (C) 31 (D)

[Option ID = 5442]

(B) and (D) only

Fae (B) 21 (D)

[Option ID = 5443]

(DY and (E) only

Fae (D) #1 (E)

[Option ID = 5444]

60)

Which of the following statements are true about dialect?

(4)
(B
(€
(I

Dialects have no grammatical rules
Dialects cannot be written down
Dialects are mutually intellizible forms of a language

Dialects of a language differ from each other in a svstematic way

Choose the correct answer from the options given below !



F=ferfiaa | %14 |1 oA wied  qad § 58 27
(&) afe % =18 srefirs a2 #e 2
B) el = fefysrg 16 e s a2
(C)  TiTT ST 3 R AT E e 2

D) Ao g qih 4 v g g 1 2

A fou e fasedi 4 @ ud s = il

[Question ID = 1362][Question Description = 160_31_LINGUISTICS_Q60]
1. (A) and (B) only

Fdel (A) 371 (B)

[Option ID = 5445]
2. {B)and (C) only

F9H (B) 311 (O)

[Option ID = 5446]
3. (C) and (D) only

FAd (C) 3 (D)

[Option ID = 5447]
4. (A) and (D) only

Fdal (A) 3 (D)
[Option ID = 5448]

61 ; ; ] . 7
) A bidirectional bilingual Machine Tranzlation system works for

{4)  Target language
(B) Source language
(Ch Multiple languages
(D Selected language

{E)  Scheduled languages

Choose the correct answer from the options given below :



(A) Ed e

(B) =M@ am

(C) &g v

(D)  =Aid q
(By  sifaa wrmd

= fw o forredi 4 4 gl w1 s it
[Question ID = 1363][Question Description = 161_31_LINGUISTICS_Q61]
1. (A) and (E) only
e (A) AR (E)
[Option ID = 5449]
2. {(C) and (D) only
#ae (C) {7 (D)

[Option ID = 5450]

3. (A) and (B) only
F6 (A) 3 (B)
[Option ID = 5451]

4. (D) and (E) only
#4 (D) 317 (E)

[Option ID = 5452]

62) As per the Census 2011 report of the Government of India which of the following non—
scheduled languages are not listed in Part-B

(A) Dimasa
By Garo
(0 Kabu

(D) Bangan:

(E) Rurux

Choose the correct answer from the options given below :



aTA FrET S 2011 O ¥ wgER @2-@ (Part B) U Fefofaa 0 #-H -srgyiEa
qefrg 98 27

()  Tsum (Dimasa)

B)
) =t
D) =i
E) #FwE

e Tau o foeread] 9 A | 390 1= fifaw
[Question ID = 1364][Question Description = 162_31_LINGUISTICS_Q62]

1. (A).and (B) only

Had (A) 31 (B)
[Option ID = 5453]

2. (C) and (D) only

F9 (C) 37 (D)

[Option ID = 5454]
3. (D) and (E) only

#4 (D) =1 (E)

[Option ID = 5455]
4. (B) and (C) only

Faw (B) 31l (©)

[Option ID = 5456]

63) What are the typical aveal features characteristic of Indian language families?

(A) Retroflexion

(B) Prepositions

(C) SVO word order
(D)  Reduplication
(E) Echo words

Choose the correct answer from the options given below :



g ar ufram i s A e 39

(a)  afaaes
(B) v

(C) TR = (SVO) 7158 FH
Dy i

(E)  ufasa=imens e

J1 Taw mu Tarsrendi O 4w 3o = = il

[Question ID = 1365][Question Description = 163_31_LINGUISTICS_Q63]
1. {A), (B) and (D} only
F4e (A), (B) # (D)
[Option ID = 5457]
2. {A). (D) and (E) only
Fad (A). (D) 31 (E)
[Option ID = 5458]
3- {A). (C) and (D) only
4 (A), (C) #1 (D)

[Option ID = 5459]
4. (B). (C) and (E) anly

47 (B). (C) =l (E)

[Option ID = 5460]

64)  For language acquisition to occur which of the following are needed?

(A) Only mput and innate capacity
(By  Input

(C)  Interaction

() Neither input nor interaction

(E) Only nnate capacity but no input

Choose the most appropriate answer from the options given below



a1 stferEn & fom Feiferfas o e sravasa o 27

(A)  Faw fafae sfw stasia s
B) fAfae

(C)y #HafEm

(D) 4@ Ffae s A 8 i

(E) = idsia amd dfea ffae g a8

I fromo faspedi 0 3 udl s =0 =9 ifsu
[Question ID = 1366][Question Description = 164_31_LINGUISTICS_Q64]
1. (B) and (C) only
Fael (B) 3l (C)

[Option ID = 5461]
2. (A) and (B) only

el (A) 3T (B)

[Option ID = 5462]
3. {C) and (E) only

F4# (C) 31 (E)

[Option ID = 5463]
4. (A) and (D) only

Fad (A) 3T (D)

[Option ID = 5464]

65) Which of the following holds true for phrase structure?
(A) A ccommands B if and only if the first branching node which dominates A
dominates B
(B) A c-commands B if and only if another node C ¢c-commands B
(C)  Ac-commands B if and only if hoth A and B belong to different branching nodes
(D)  Ac-commands B if and only if both belong to the same branching node

(E) A cannot c-command B under any condition

Choose the correct anawer from the options given below :



T4 | 19 T 9 1Ea F o g 27

(A) A B iz F 2 ok wiw fak a8 @ geen @i A o A 1 sife @ 2 B =fiee
(B) AB# cHuiz a2 firk 3 fak e st gan e B ez ww@ 2
(C) A Bl cHyizawal 2 ok o fok aa 5 A 7w BEmi im oIz 53
M) AB iz Fd 2 fonk offt fad 7 5 1 v A afam 92 & A

(E) A B c-auiz faf of foafa 8 38 & a2

I fEu e fasreat # 8 ud 3 % =am Fifeu

[Question ID = 1367][Question Description = 165_31_LINGUISTICS_Q65]
1. (A). (B) and (C) only

Fad (A), (B) 3 (C)

[Option ID = 5465]
2. (B)and (E) only
4 (B) 317 (E)
[Option ID = 5466]
3. (A) and (D) only
Fae (A) 3 (D)
[Option ID = 5467]
4. (A) and (C) only

Fae (A) 3T (C)

[Option ID = 5468]

®) " Mateh List T with List IT
ListI List IT
Exponents Theory
(A) Bhartrhar (I) Apohavada
(B) Dinnaga (II) Sphotavada
(C) Kumarilabhatta (TIT) Anvitabhidhana vada
(D) Prabhakara Misra (IV) Abhihitanvayavada

Choose the correct answer from the options given below :



H-1 % A =1 4= 11 foem afao

.1 T
ST () ferzrd

(&) gz M T

(B) Tezam () TEEEE

(€) ez (D) sAf=mniaumans

(D) woTE fay (IV) #AqfeaT=rgans

41 fau o Tl | 5 98 30 &1 =9 i

[Question ID = 1368][Question Description = 166_31_LINGUISTICS_Q66]
" (A)-O, (B)-(D. (C)-(II), (D)-AV)

[Option ID = 5469]

2. (A)-(D), (B)(III), (C)-(D), (D)-aAV)

[Option ID = 5470]

3 (A)-D). (B)-(D), (©)-aV), (D)-(1II)

[Option ID = 5471]
4 (A)-aV), (B)-@), (C)-(1I), (D)-(A1)

[Option ID = 5472]

7
67) Match List T with List IT :
TastI TistII
Author Name of the Article
(A) L.Bloomfield (I) Morphology and Logical form
{B) QAL Halle (I) From morpheme to utterance
(C) Z.8. Harns (ITI) Menomimi Morphophonemics
(D) D. Pesetsky {IN) Prolegomena to a theory of word
formation
Choose the correct answer from the options given below :
A1 o |19 %1 -1 fena ifaw .
IF_RF[-I Ji:ﬂ_[[
Gees HArewd F14™
(A) vE, sefies I  uTEfErE T2 wnfasa s
(B) uH. 3 (IN) % ArEA 7 3
(©) 2.y, FHem (III) BT BT
D) & .aazEh (IV) eI 2 0 el 5106 92 HieH

41 feu o foee 4 5 a8 370 %1 =94 FHifeu .



[Question ID = 1369][Question Description = 167_31_LINGUISTICS_Q67]
1. (AY-(I). (B)-(IV), (C)-(II). (D)-(I1T)

[Option ID = 5473]
2. (A)-(IV), (B)-(IIL). (C-(L). (D)y-(1T)

[Option ID = 5474]
30 (AT, (B)-(IID), (CH-(IV), (D)-(T)

[Option ID = 5475]
4. (AT (By-(IV). (Cy-(II). (DT

[Option ID = 5476]

68)  Match List T with List IT ;
List I List IO
Sociolinguistic Studies Authox(z)
(A) The social differentiation of Englishin (I) William Labov
Norwich

(B) The interplay of social and lngwstic (II) James Milvoy and Lezely Milroy
factors in Panama

{C) The social stratification of English m (I} Peter Trudgill
New York City

(D) Belfast : Change and vanation in an (IV) Henrietta Cedersren
urban vernacular

Choose the correct answer from the options given helow:

Hfl-1 % wne e A 11 faee Fife

g1 T
U - AT S e S
(&) freme fewfaem s sfem 3 fda @  faferm e

(B) f2 27 sms Hwe U fEfEies $9ed 3 (D e fuenmg =i o fgenm
BEle

(C) fz2 \mm Sfefeaym sk sfam o ZmE ) oz zefie
fad

(D) B ;9 U2 40y F 0 3 wwipen. @V) wefe fasum

4te e fogeal 4 3 w3 3on = =9 Fifs

[Question ID = 1370][Question Description = 168_31_LINGUISTICS_Q68]
1. (A)-(IV). (B)-(IID., (C)-(II), (D)+I)

[Option ID = 5477]
2. {A)-(IT}, (B)-(III), (C)-(IV). (D)-(Dy

[Option ID = 5478]
3. (A)(IID). (B)-(IV). (C)-(I), (D)-(IT}

[Option ID = 5479]
4. (A)-(IV). (B)-(D. (CH-(ID). (D)-(III)

[Option ID = 5480]



69) Mateh Last I wnth List IT ;

ListI List IT
Language Types Language
(A) Isclating lanzuage (I) Turksh
(B) Agglutinating language (II) Inuktitut
(C) Inflectional language (III) Vietnamese
(D) Polysynthetic language {IV) Sanskrit

Choose the correct answer from the options given below :

AL |14 % -1 ens i
-1 111
7] W ElL
(A)  HAWTA A o T
(B) =TT °T an s
(C) et e wmm (I fag=m
(D) @7 #HfveTe v (IVy He=Fd

4 Tew o Topredl 0 6 921 300 1 =ed il
[Question ID = 1371][Question Description = 169_31_LINGUISTICS_Q69]

1. (A)(IID), (B)-(IV). (C)<1D), (D)D)

[Option ID = 5481]
2. (A)-(IID), (By«(I). (C)-(IV). (D)-(II)

[Option ID = 5482]
3. (A)AID. (B)-(T). (C)-(TV). (D)-(I1IT)

[Option ID = 5483]
4 (AYIVY, (B)-(TID), (C)~(T), (D)-(IT)

[Option ID = 5484]

70) Matech List T with List IT:

List I List IT
Books Author
(A) The rise and fall of lanzuages (I} J. Fishman

(B) Dying words : Endangered languages, (II} P. Austin
and what they have to tell u=

(C) Can threatened languages be saved? (ITI) N.Evans

(D) One thousand languages : Living, (IV) R.ALW. Dixon
Endangered and lost

Choose the eorrect anawer from the options ziven below:



w11 % w1 1 9111 fena fifem

g1 HHI-IT
(Ay T2 7rE8 VE B ATE oS (0 . s
(B) =rEn agH : AdHd ThEed U wwe 2 29 ¢ (D Wi R
B
(C)  FA geve oies o et (I 4. 38

(D) =4 413dE cigad : fdf 242 U2 e (IV) #R.mu, geey. femmd

i fau o faehedi 1 8 98 37 o 997 Fifau
[Question ID = 1372][Question Description = 170_31_LINGUISTICS_Q70]
T (AT (B)-IV). (O-(ID). (D)D)

[Option ID = 5485]
2. (A)-(IV), (B)-(IIL). (Cy-(Ih. (D)-(ID)

[Option ID = 5486]

3 (AL, (B)-(IV). (C)-(D). (D)-(ID
[Option ID = 5487]

4. (A)ID. (ByAD). (C)-(IV). (D)-(III)

[Option ID = 5488]

71)  Match List T with List IT:

Tast 1 Last IT
Vowels Description
(A) heat (I} high. back, rounded
(By sue (IT} high, front, unrounded
()  boat (ITT) low. back. unrounded
(D) cot (IV) mid, back, rounded

Choose the correct anzwer from the options @iven below :

HH1-T = a4 = =011 e =it

w1 HH1-IT
= e
(A) heat (@ F4 (high), 794 (back), Adfc7d (rounded)
(B) sue (I) 3 (high), %7 (front), #Efe (unrounded)
(C) boat (ITT) T (low), W5+ (back), ¥Fd(od (unrounded)
D) cot (IV) == (mid), %4 (back), e (rounded)
A o o fasedi 0 3 |58 39 %) = Fitaw

[Question ID = 1373][Question Description = 171_31_LINGUISTICS_Q71]



[Option ID = 5489]

(A)AID). (B)-(I), (C)-(1I0). (D)-(IV)

[Option ID = 5490]

- AT (B)-D). (C)(TV). (D)-(I11)

[Option ID = 5491]

(A)-(IV), (B)-(IOID). (C)-(Ih. (D)-(1D)

[Option ID = 5492]

{A)-(II0), (B)-(D), (C)-(IV), (D)-(I1)

72)  Match List T with List II : Types of annotations and the definitions

ListI List IT

Tvpes= of annotations Definition of annotation
{A) Part of speech annotation (I) Tagging characters in a text
(B) Word sense annotation (II) Tagging sentences in a text

(C) Syntactic annotation

(IIT) Tagging word meaning in a text

(D) Orthographic Annotation {IV) Taggine part of speech of words

Choose the correct answer from the options given helow:

11 % | - e =i .

1T HAIL
(A) 9ea-12 HFA (0 T o2 1 seri 1 Sika S
(B) wread 355 (D) e 12 4 = @0 Siera T
(C) AT 375 () faef e § reard #1 2ifwa w0
(@) avf e g e (IV) S1e21 & 95 %1 SAldha w1
Fr fau e faepadi 8 g 3o 0 = il

[Question ID = 1374][Question Description = 172_31_LINGUISTICS_Q72]

1. (A(D), (B)-(IL). (C)-(IID). (D)-(IV)

[Option ID = 5493]
2. (A)(ID. (B)-(I). (C)-(IV). (D)-(III)

[Option ID = 5494]
3. (A)(TID), (B)-(IV). (Ci-(T. (D)-(IT)

[Option ID = 5495]
4. (A)-(IV). (B)-(IID), (C)-(ID). (D)-(D)

[Option ID = 5496]



73) Match List I with Iast IT:

List I Tist II
IPA Symbols Description
Ay 7 (I)) Retrofiex nasal
B) = (IT) Glottal stop
© n (ITI) Voiced palatal stop
Dy <+ (IV) Volceless velar fricative

Chaose the correct answer from the options given below :

HALT o A1 51 FoH1-IT Her il :

-1 AL

TS i 1 i feparmn
@ 1 @ g AT
B x (IT) WA »Ei
© n (IID) =47y dTersg $I9]
@) + (IV) e g i

9=t Taw o Taeregl ° 3 HA 390 &1 =9 ifam

[Question ID = 1375][Question Description = 173_31_LINGUISTICS_Q73]
1. (A-D, (B)-(ID. (C)-(III), (D)-(IV)

[Option ID = 5497]
2. (A)-(ID), (B)-(IV), (C)-(T), (D)~(I1I)

[Option ID = 5498]
3. (A-(IV). (B)-(ID). (C)-(IID). (D)D)

[Option ID = 5499]

4. (A)-(II). (B)-(D), (C)-(IV). (D)-(II)

[Option ID = 5500]

74) Match Last T with List IT:

Tast I List IT
Lancuages Families
(4&) Khasi (I} Dravidian
(B) Trula (ITI)  Austro Asiatic
(Cy Bangan (ITT) Tibeto Burman
(D) DMMemba (IV) IndoArvan

Choose the correct answer from the options given below :



F=1-1 % |14 = =11 Taerr= =it -

g 1 AL

T afrem
(A) @ @ zEs
(B) & D i
(€) =il ) feard) wwi
(D) HE @V) uweE =7

A1 fem o fasedl | | |54 o 1 =99 fifa
[Question ID = 1376][Question Description = 174_31_LINGUISTICS_Q74]
1 (AT, (B)-(D. (C)-(IV). (D)D)

[Option ID = 5501]
2. (A)-(ID). (B)-(Iy. (C)-(IV). (D}-(I1T)

[Option ID = 5502]
3. {A)-(D). (B)-(IT). (CY-(IID). (D}-(IV)

[Option ID = 5503]
4. (A)-(IV). (B)-(III). (C)-(T). D)D)

[Option ID = 5504]

75)  Mateh List I'with List IT ;

Last I List IO
Formal Grammars Types in Chomsky Hierarchy
(A4) UPSG (I 3
(B) CSG (Im 2
(€1 CFG I 1
D) RG vy o

Choose the correct answer from the options given below :

Hefl-1 3 #1111 foens fe

e

AT IHIIT
FOTEE ST e Frgewhl 8 9o
(A 79 wE s (UPSG) @M 3
(B) Hlwy i (CSG) am 2
(Cy g (CFG) (Im 1
(D) ##nl (RG) av) o
4= Teu mu foreal | 6 |8 30 =1 =4 fifsm

[Question ID = 1377][Question Description = 175_31_LINGUISTICS_Q75]
1 (A, (Bi-(D). (C)-(IID). (D)-(IV)

[Option ID = 5505]



2. (AIV), (B)-(IIL)y, (Ci-(IL), (D)-iI)

[Option ID = 5506]
3. (AT (B)-(ID, (C)-(IIL. (D)-(IV)

[Option ID = 5507]
4. (A)(IIT). (By-(IV). (C)-(I. (D)-(IT)

[Option ID = 5508]

76) Arrange the places of articulation of consonants 1n correct sequential order
from front to back

(A) Glottal

(B)  Palatal
(C)  Labial
D)y  Velar
(E) Dental

Choose the correct answer from the options given below :

A o T F A H A F O F A GE A §

(A) FIEAE

(B) GG E

(C) it

D) A

(E) &4

1= Fem o fasrerl W 3 | 370 o1 =3 i .

[Question ID = 1378][Question Description = 176_31_LINGUISTICS_Q76]
1. (A —@D)—=(B)—(C)—(E)

[Option ID = 5509]
2. (EY—(B)—(C)— (D)= (A

[Option ID = 5510]
3. (C)—(E)y—(B)—(D)—(A)

[Option ID = 5511]
4 By —(A) —(D)—(E)—(C)

[Option ID = 5512]



77) Arrange the nasal segments in a sequential order : (front to back direction in place of

articulation)

(A) Palatal nasal
(B) Velar nasal
() Dental nasal
Dy} Bilabial nasal

(E) Retroflex nazal
Choose the correct answer from the options given below :
AT S5 o1 SiE O saafad 3 (Fem e o fgen s de 6 sw)

(A)  dTers i

(B)  Fay i
(C) AEAaaias

(D) I T

(E) 4= (Tergera ) ATk

1= fao o TaereTi O & |@d 39 01 =193 fifau ;

[Question ID = 1379][Question Description = 177_31_LINGUISTICS_Q77]
1. (C)—(E)=(B)— (D) —(A)

[Option ID = 5513]
2. (=G —(Ey—(A)—(B)

[Option ID = 5514]
3. (A —{B)—(C)—=(D)—(E)

[Option ID = 5515]
4. (B)—(A) —(D)—(E)—(C)

[Option ID = 5516]
78) Arrange the levels of representation of concepts in cogmitive linguistic framework

(&) Conception

(B) Linguistic meaning
(C) Form

(D) The world ‘out there’

(E) Perception

Choose the correct answer from the options given below :



TR ITIE T G0 & 21 | STEmns F giaeav @ # safied #1

(A H@FH
®)  amrE s
() =1

(D) d78 I 5

(E)  wrgafissm

1= Tem el | 4 |a 39 1 =5 it

[Question ID = 1380][Question Description = 178_31_LINGUISTICS_Q78]
. (A= (O)—(B)—(E)—(D)

[Option ID = 5517]
2. (D) —(E)— (&) —(B)—(C)

[Option ID = 5518]
. (E) —(D)—(Cr—(A)—(B)

[Option ID = 5519]
4 (B)—(A) —(E)—(C)— (D)

[Option ID = 5520]

79) Arrange the following based on the chronolozy of diagnostics with regard to language

endangerment.

{A) Evaluative svstem of the ethnologue for language vitality
(B}  Fizhman's GIDS model

(C) Factors of vitality and endangerment proposed by UNESCO
(D) Ethnologue's EGIDS

(E)  Landweer's indicators of ethnolingmstic vitality
Choose the correct answer from the options given below :
a1 % faepdier  was 1§ Jariae Fenrn & san @ Fefataa # safem sl
(&) |7 = S 5 e v ) g e
®) i 1 e are
(C) g gm st s =i faepdiem & e
D) e A g
(E)  @nsfaen i gamfaamiesn e sfiaad
ey e e Faspedi 4 4 ad) e 1 = Fiffe

[Question ID = 1381][Question Description = 179_31_LINGUISTICS_Q79]



1. {C)—(B)—(E)—(A)—D)

[Option ID = 5521]
2. (A —(E)—(D)—(B)— (O

[Option ID = 5522]
3B —(E)—(A)—(C)— (D)

[Option ID = 5523]
4 Dy —(O) =B — (A —(E)

[Option ID = 5524]
80) Organize in a sequential order Paul Eiparsky's conception of how the Enghish lexicon is
organized

(A) Laxing

(B) Compound stress

(C) Stress. shortening
(D) Post lexical phonology

(E) Underved lexical entries

Choose the correct answer from the options given below :
i el o SIS0 15a AR o) sgaieem 3 o dr - ) AFarm ) sHFe | ford |
Q) e
B)  HIH FATTE
(C) AT Y a1
M) 9 i e e

(B)  =regeed apeira wiafei

4 feu o e O 6 6 390 1 =29 i

[Question ID = 1382][Question Description = 180_31_LINGUISTICS_Q80]
1. (E)—(D)—(C)—(B) —(A)

[Option ID = 5525]
2. (E)—{C)y—iB)—(A)— (D

[Option ID = 5526]
3. (A —(D)—(B) =) —(E)

[Option ID = 5527]
4 (A)—(B)y—(C)—(E) = (D)

[Option ID = 5528]



81) Identify the correct order based on the chronology of books published (first edition).

{A) In other words : A coursebook on translation (M. Baker)
(B) A linguistic theory of translation (J.C. Catford)

(Ch Linguistics and the language of translation (K. Malmlkjaer)
(D} The art of translation (T. Savory)

(E) A textbook of translation (P. Newmark)

Choose the correct answer from the options given below :
WETTT YA (Wn FEA0) % ety & IR WA e @ e
(A)  =H SEEEH U FEE S e (-

(B) v el ogh s 2 (3L F251E)
() farEfes ve s @ i e (o, oo
(D) T2 311d 3% ZwersrA (A, amEn)

(E) 0 &Rzadh ST ZHEevE (9. =)

1 fau e faseendi O 5 9 300 %0 =0 Fif
[Question ID = 1383][Question Description = 181_31_LINGUISTICS_Q81]
1. (E) = {A) —@D) —(C) —(B)

[Option ID = 5529]
2. (D) —(B)—(E)—(A) — (O)

[Option ID = 5530]
3. () —(E)—(B)—(D)—(A)

[Option ID = 5531]
4 (B —A)—(D)—(E—(O)

[Option ID = 5532]
82) Ajrange the following concepts in segqueniial order (centrifugal)

(A) Focal context
(B) Global context
(C) Local context
(Dy  Social context

(E) Topical context

Choose the correct answer from the options given below :



1.

2.

3.

4.

1.

fraferfaa s @1 399 (ST ) § SR i

(A)  F= (B gad

B Afeas () gad

(€) e e

(D)  AmITTE ged

(E)  ifaa dad

e faw o fased O & |8 370 o 2= it -

[Question ID = 1384][Question Description = 182_31_LINGUISTICS_Q82]

(A) = (C) —(D) = (B) —(E)

[Option ID = 5533]

(B)— (A} — (D) —(E)— (D)

[Option ID = 5534]

(C)—(A)—(Ey— (D) —(B)

[Option ID = 5535]

(D) —(B)—(Ci—(E)—(A)

[Option ID = 5536]

83)

Arrange the following stages in language aguisition in sequential order

(A) Semantic competence

(B) Phonological competence
(C) Communicative competence
(I Grammatical competence

(E) Pragmatic competence

Choose the correct answer from the options given below :

iy stferrzo) # Frfefaa =i 1 sgafos w9 4 eafon

(A) S e

(B) = wme

(C)  HWHIT &I

D) S A

(E)  Hahd WATT-8ga

A1 T o famredl # 8 |17 390 1 =99 i ;

[Question ID = 1385][Question Description = 183_31_LINGUISTICS_Q83]

()

—(C)—(E) = (D —(B)



[Option ID = 5537]
2. (C)—(B)—(D)—(E)—(4)

[Option ID = 5538]
3. B — (D) —(A) —(E)— (C)

[Option ID = 5539]
4 (D)—(A)—(C)—(E)—(B)

[Option ID = 5540]

84) Awrange the following names in chronological arder.

(A George Wenker
(B)  Jules Gillieron
(C)  Alexander Ellis
(D)  Eugene Deith
(E)  William Labov

Choose the correct answer from the options given below :
(&)  TE dE
(B) =4 fiferia
(C) i ufery
D) uHEE

(E)  faferau aam

14 feu mu fagedl 4 @ 58 370 1 =39 il
[Question ID = 1386][Question Description = 184_31_LINGUISTICS_Q84]
T (B)—(4) — (D) —(E)—(O)
[Option ID = 5541]
2 (A =B - (C)—(D)—(E)

[Option ID = 5542]
(O =B —(A)—(B)—(D)

[Option ID = 5543]
4 (D) —(C)—(A)—(B)—(E)

[Option ID = 5544]



85)

Arrange the following concepts 1n seguential order.

(A)
iB)
(c)
(D
(E)

Choose the correct answer from the options given below :

Idiolect
Familylect
Soeiolect
Dialect

Language

(&)
(B)
(©
(D)

(E)

=T 9T (Idiolect)

Fel g7 (Familyleet)

HuTE AT (Sociolect)

Aol (Dialect)

HM1 (Language)

et fia e fersrend] 4 9 wyeh e o1 7 fif

[Question ID = 1387][Question Description = 185_31_LINGUISTICS_Q85]
(A —(B)—(C)— (D) —(E)

1.

[Option ID = 5545]
2. (B —(C)—(D)—(A)—(E)

[Option ID = 5546]
3. (D) —(C)—(B)—(E)—(A)

[Option ID = 5547]
4 (1C)—(B)—(D)—(E)—(A)

[Option ID = 5548]

86)

Given below are two statements:

Statement (L) :

Statement (IT) :

In the light of the above statements. choose the most appropriate answer from the options

substantive.

grven helow:

Noam Chomsky distinguishes twe kinds of umversals — formial and

Many of Greenberg's universals do not imply a typological analvsis,



dRd s faumu 2 .

F94 (D) : A7 =esf] 3 g U & HEYE (Universals) 980§ — #9709 (formal) 317 @iica+
{substantive)|
FuH (ID) wfime = %3 BEY (g ) ardeTaEa Sy ) gafe 596 #)

T FeA F e A, A fao me femd O 8 e 3 39 s wee Fifa

[Question ID = 1388][Question Description = 186_31_LINGUISTICS_Q86]
1. Both Statement (I) and Statement (IT) ave correct

Fo4 (T) sin (1D ZHT a8 8
[Option ID = 5549]
2. Both Statement (I) and Statement (ID) are incorrect
FuA (1) 3in (1D &4 Tt 7§

[Option ID = 5550]

3. Btatement (I) is correct but Statement (II) is incorrect

oA (1) |7 2, wiA F94 (1) e 2

[Option ID = 5551]

4. Statement (I} is incorrect but Statement (ID) is correct

94 (I) 7Tl 2, Al %97 () HA 2

[Option ID = 5552]

87) Given below are two statements: One 1s labelled as Assertion A and the other 1s labelled as

Reason R

Assertion (A): The process of voleing 1s phonologically conditioned.

Reason (R} : The process of devoicing 15 semantically conditioned

In the light of the above statements. choose the correct answer from the options given below:

A1 41 sk fawom # ;v wfueied (Assertion (A)) % #1 4 fafia ® € 2501 3395 %90 (Reasons (R)) &

W

s (A) i sl | ufdad S 2

F (R) : AT s3ETd = 4 afaad di 2

YT A & e |, 19 B Rl 09 88 3w =9ga fifse

[Question ID = 1389][Question Description = 187_31_LINGUISTICS_Q87]

- Both (A) and (R) are true and (R) is the correct explanation of (A)



(A) SV R) =H H& & =7 (R), (A) Fl 6 =0E @

[Option ID = 5553]

2. Bath (A) and (R) are true but (R) is NOT the correct explanation of (A)

(A) 31 (R) ZH1 643 &, wifsrd (R), (A) = w1l =amea 96 @

[Option ID = 5554]
3. {A) 1= true but (R) 1= false

(A) w7 2, wifF (R) s 7

[Option ID = 5555]

4 (A) is false but (R) is true

(A) 37 7, #lia (R) #ed 2

[Option ID = 5556]

88) Given below are two statements :

The SHRDLU System (Winograd 1972)

Statement (I):  Simulated a robot embedded in a world of toy blocks.

Statement (IT): Was an attempt to build a grammar of Enghsh and was ahle to parse NL

commands,
In the hight of the above statements. choose the correct answer from the options given below:
TR wa faomu d,

SHRDLU (fa-mre 1972 ) faeey

FEAL: A F-we 4 wlaten e % fagere B

FoR I1: sl 2= 1 Fegeiad F9- YW 47 30 NL Fu7s ) =gy #3- 5 g 491

IR HG F et 1, A4 7 e e 1 4 w58 I =9 i

[Question ID = 1390][Question Description = 188_31_LINGUISTICS_Q88]
1. Both Statement (I) and Statement (II) are true

F9 I 3 I 21 geg @

[Option ID = 5557]
2. Both Statement (I} and Statement (II) are false

F94 T 301 1T 34 936 7

[Option ID = 5558]
3. Btatement (I) is true but Statement (II) 1s false

FeA T 01 2, dfee &9 [T 36 2

[Option ID = 5559]



4. Statement (I} is false but Statement (IT) is true

e [ 39 2, el Fu- [T 53 2

[Option ID = 5560]

89) Given below are two statements :

Which statements about aksarasgmamnaya in Panini's grammar is/are correct.

Statement (I): It has 14 shitras placed at the beginning of the grammar.

Statement (II): It can be adapted for other languages.

In the light of the above statements, choose the most appropriate answer from the options
given below:

A &l e T E
T ST § ST F AN S ST e T 2R

Fod 1: g9l s F N 14 3@ 0 2

FeH I Fe 3173 ATl o o ofi stgesfor B = s 21
I F94 F AT U, 914 20 g O | g8 I8 & 99d e

[Question ID = 1391][Question Description = 189_31_LINGUISTICS_Q89]
1. Both Statement (I) and Statement (IT) are correct
%9 [ AT e B

[Option ID = 5561]
2. Both Statement (I) and Statement (II) are incorrect

FU T 30 TS0 sea 3
[Option ID = 5562]

3. Statement (I) is correct but Statement (II) i= incorrect

o THA R, S %99 I 5973 &

[Option ID = 5563]

4. Statement (I) is incorrect hut Statement (I} is correct

94 T 330y 2, oA F9a [T 0 2

[Option ID = 5564]



90) Given helow are two statements: One is labelled as Assertion A and the other is labelled as
Reason R.

Asgertion (A): In translation both source and target language texts eommunicate the

SaIme message.

Reason (R) : A language may contain expressions which refer to concepts that do not

exist in another language.

In the Light of the above statements. choose the correct answer from the options given below:

J14 21 Fer fav o & v wfumed (Assertion (A)) % #1 8 fafan 2 A1 2801 396 F19 (Reasens (R) F

w7
A (A) SATE G HIA SR w6 JTT HYH HEI HA H 2
F1] (R) : qI9] § AR A TE T s B # 9 TR o= g g 8 92 A 2

I %o % AT 4, S 2o T e | 6 wE 3w e i

[Question ID = 1392][Question Description = 190_31_LINGUISTICS_Q90]
1. Both (A) and (R) are true and (R) is the correct explanation of (A)

(A) 3t (R) 711 57 £ 30 ®), (A) Fiad smen 2

[Option ID = 5565]
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(A) 31 (R) 21 |3 2, &l (R), (A) Fl & s 78 ¢

[Option ID = 5566]
3. (A) is true but (R) is false

(A) T 3, | (R) 39e 2

[Option ID = 5567]
4. (A)1is false but (R) is true

(A) 3/e 2 difed (R) Hed 2
[Option ID = 5568]

Topic:- 031_SEPT22_S1_PARTB



1)

Ferdinand de Saussure may in many respects be considered the founder of the modern
seience of language. He too was the first to call for a structural approach to language, i.e., a
scientific description of language in terms of relations between units. irrespective of any
properties which may be displayved by these units but which are not relevant to the
relations or deducible from the relations. Thus, Saussure would have it that the sounds of a
spoken language. or the characters of a writien language. should be described. not
primarily in terms of phonetics or of graphiclogy. respectively, but in terms of mutual
relations only. and. similarly, the units of the linguistic content (the units of meaning)
should be described primarily not in terms of semantics but in terms of mutual relations
only. Acecording to Saussure. it would be erroneous to consider philology as a mere
aggregate of physical, physiological. and acoustic deseriptions of speech sounds, and of
investigations into the meanings of words. and we may add. of psychological
interpretations of such sounds and meanings. On the contrary. the real units of language
are not sounds. or written characters or meanings : the real units of language are the
relata which these sounds, characters. and meanings represent. The main thing 1= not the
sounds, characters, and meanings as such, but their mutual relations within the chain of
speech and within the paradigms of grammar. These relations make up the system of a
language. and it i1s this Interior system which is characteristic of one lansuage as opposed
to other languages, whereas the representation by sounds. characters. and meanings is
irrelevant to the system and may be changed without affecting the system.

fore arerve 1 A e

F5 A9 1 $iET2 <. ) i g e o S Wi S 21 e S d T o S
gfizerion o1 arra o1 off 2, e gredi o ofa. @l 61 s smen faen Rl e & i g3 s
g wafdia o o we @ TR S oga e @ gag w o weE W e w0 e w3 e aeare
a1 1 Ferfiga w1 famas =1 afild #4 f aa 82 At a ol Fae  sqae 2@ ot
QTP HAE] % STEN A S Sl w aEEE 8w HEee o e g (sfaam ) ) seea
1 Faf-e B 0 GiA 3 E dee A Ha R e E A W sEn gr wifd S
TP il uTE i, SR e & g & = 0 36 anil, 9 sl % sy 0 a9 Sieg] # i 4 d@ie 3 s
#1 9 S| 3Ed 76 uE e HJe w49l R Baras =meEn F1 9 SE gad 2| e fawE g i
grAfa e St 38 £ @ Ehaa dam @ w4 338 2 afe wrn i aeafas swegl e
(relata) 1A =i, e 3R w54 20a w9 31 20 v S, A iR w9 W e A6 8 e Ao
HIE S ST o S odie 39 ST dee O 2 38 gae am) ) et &) a9 § sl ad gz
svafe yorreli SN ead) arn o feretra ot v o) g feimen 2ft 21 st afrdl, el offt sl =1
ufafaiaea zq gurefl & for smmma e 2 aon wored & fae g B i@ s o 2)

What is a structural approach to language?
T ST HFAT S w2

[Question ID = 1393][Question Description = 191_31_LINGUISTICS_Q91]

. Where units are described independent of each other

el ST ) -G E F ae vl e o @

[Option ID = 5569]
2. A seientific deseription of language primarily involves relations between units

a1 2 ek avia Fe g geredl F dfe Haul o avid @

[Option ID = 5570]
3. A scientific description of language using technology.

TrTfrefl o1 3 #Ta S0 9T S 3 v

[Option ID = 5571]



4.

2)

Study of language on the diachronic axis

i ufay oA # s

[Option ID = 5572]

Ferdinand de Saussure may in many respects be considered the founder of the modern
seience of language. He too was the first to call for a structural approach to language, i.e., a
sclentific description of language in terms of relations between units. irrespective of any
properties which may be displaved by these units but which are not relevant to the
relations or deducible from the relations. Thus, Saussure would have it that the sounds of a
spoken language. or the characters of a written language. should be described. not
primarily in terms of phonetics or of graphiclogy. respectively, but in terms of mutual
relations only. and. similarly, the units of the linguistic content (the units of meaning)
should be described primarily not in terms of semantics but in terms of mutual relations
only. According to Saussure. it would be erroneous to consider philology as a mere
aggregate of physical, physiological. and acoustic descriptions of speech sounds, and of
investigations into the meanings of words. and we may add. of psvechological
interpretations of such sounds and meanings. On the contrary. the real units of language
are not sounds. or written characters or meanings : the real units of language are the
relata which these sounds. characters. and meanings represent. The main thing 1= not the
sounds, characters, and meanings as such, but their mutual relations within the chain of
speech and within the paradigms of grammar. These relations make up the svstem of a
language, and it i1s this interior system which 1s characteristic of one language as opposed
to other languages, whereas the representation by sounds. characters. and meanings is
wrrelevant to the system and may be changed without affecting the system.

fore T 6 SAEEE e

&g A| H WS4 5. 7 w0 A 9T A S AT S #) JEUE I A 9T AT
gtz o1 aira o of ze, e serei & ofd: wadl 1 A smen faen o g & i @3 s
gy vafia ) = wdt @ B o g dedl 8 geg B o w3 e @) 3w wEn s 3 st Sear
ol 41 Ferfiga e i famas =1 afild #1 f ara 82 At o ot Fae 5 sqan 29 afe
QTP HAE] % STEN A S Sl w aEEE 8w Eem o e g (sfaam ) ) s
1 Fa-e U 0 Gvid 3 Ee dael S Hal R e E A W sEn ge wifad S
9ITE o T T, YRR TS & de w36 A, T i w0 0 a9 9ies] o+ 39 R e s
#1 9gF 9| 3EY 7Y uH | HJe @49 f aras | #) W SE gEd 8 38 fTwmE g i
ardfaes g satEl d £ @ felaa aem o 5 98 2 afes g f aeafas gl e
(relata) A =i, e 3R e 2ia w9 21 20 v s, e iR @ w6 8 e Ao
HO S SR o Sfaurl & ot 3 S dadl 8 2) 98 ey g o) st F) A 8 i 99 9
vt wortefl 2 S aad e 3 e et o 1 e fedven 2t 21 st safed, @i s el
ufafaiaea zq gl & for, smoma e 2 aon womed & fae g B ufraf@ B a2

What does ‘the linguistic content’ refer to in the passage?

T4 T | et Sente e ae e e 27

[Question ID = 1394][Question Description = 192_31_LINGUISTICS_Q92]
1.

Sounds of a spoken language
Al T H e

[Option ID = 5573]

2. The characters of a written language

ferfiae v & =



3.

4.

1.

3)

[Option ID = 5574]

Meaning of a inguistic umt
9T S T 34

[Option ID = 5575]
Contextual meaning

T a1

[Option ID = 5576]

Ferdinand de Saussure may in many respects be considered the founder of the modern
seience of language. He too was the first to call for a structural approach to language. i.e.. a
seientific deseription of language In terms of relations between units. irrespective of any
properties which may be displayed by these units but which are not relevant to the
relations or deducible from the relations. Thus. Saussure would have it that the sounds of a
spoken language., or the characters of a written language, should be described, not
primarily in terms of phonetics or of graphiology, respectively, but in terms of mutual
relations only. and. similarly, the units of the linguistic content (the units of meaning)
should be described primarily not in terms of semantics but in terms of mutual relations
only. Aceording to Saussure. it would be erroneocus to consider philology as a mere
aggregate of physical, physiological. and acoustic deseriptions of speech =sounds. and of
investigations into the meanings of words, and we mayv add. of psychological
interpretations of such sounds and meanings. On the contrary. the real units of language
are not sounds. or written characters or meanings : the real units of language are the
relata which these sounds. characters. and meanings represent. The main thing is not the
sounds, characters, and meanings as such. but their mutual relations within the chain of
speech and within the paradigms of grammar. These relations make up the system of a
language, and it is this interior system which is characteristic of one language as opposed
to other languages, whereas the representation by sounds. characters. and meanings is
irrelevant to the system and may be changed without affecting the system.

= TreITe o S e

5 AU| H FTEA2 51, WL SAYF 91 A N SAF AT S 2| FHUEE I A 9T A
gferim 1 A i o @, WiivEs sl % 3. e 1 At =men e B e F S ow s
FI WEfTA = S el @ T S gR e A e E o e e A wE S e e
gl o ferfige s 1 fFrsrranal =1 aftia w2 8 A 6 21 sl o ownf bEe & sgee 129 afer
QEER A % R i S e qa aEET 3 g HaE o e g (styam e ) el
&1 ¥a{e =1 0 9vid 3 2 Fael Sl da ok sy e At e # sEEn ge wifed S am
51 o e, sk fasma % g F e O 3 anfl, T ER F et oy v F wdf i Em F =y
# o w9 sEa wE v e s sl R Haers =men # o JE ged | e faeE am i
apates sl sAatat 9 £ o e aan @ @ 96 7 afow v A gwafas gl § dagard
(velata) =1 ¥ wafqa, wam sin s gia %0 31 58 ween wafa, @ ofn 94w e =7 8 feg der
HOg [ S F Sl o o 39 S dadl 8 2| 38 day g ) sg) F) a9 @ o g9 a9
savafess syorrefi & s aad) w3 ferefia ol o o) g ferdmeen 2ft 21 srafen eafordl, el ofiv sl =1
ufaf-iiaea 38 quire & T s g 2 a9 woned 1 e warfEe B aiaic fr o 2)

Which one of the statements correctly describes the Saussurean approach to language
study?

T % HerEa 4 wa o gfeEm i wE a1 H9a 59 s #Ta 27

[Question ID = 1395][Question Description = 193_31_LINGUISTICS_Q93]
Sound, characters and the linguistic content should be studied in terms of
phonetics and semantics respectively



2.

3.

=ET

[Option ID = 5577]

Both sound and linguistic content should be studied in terms of mutual relations
only

[Option ID = 5578]

The real unitz of language are sounds. written characters and meaning only

1) | areatasr o] dae waiq, fofee, ) s @d 2

[Option ID = 5579]

4. Language should always be studied diachronically

4)

T =1 FHI ORI SR 2 EE

[Option ID = 5580]

Ferdinand de Saussure may in many respects be considered the founder of the modern
science of language. He too was the first to call for a structural approach to language, i.e..a
seientific description of language In terms of relations between units. irrespective of any
properties which may be displaved by these units but which are not relevant to the
relations or deducible from the relations. Thus. Saussure would have it that the sounds of a
spoken language. or the characters of a written language, should be described, not
primarily in terms of phonetics or of graphiclogy, respectively, but in terms of mutual
relations only. and. similarly, the units of the linguistic content (the unitz of meaning)
should be described primarily not in terms of semantics but in terms of mutual relations
only. According to Saussure, it would be erroneous to consider philology as a mere
ageregate of physical. physiological. and acoustic descriptions of speech sounds, and of
investigations Into the meanings of words, and we mayv add. of psychological
interpretations of such sounds and meanings. On the contrary. the real units of language
are not sounds. or written characters or meanings : the real units of language are the
relata which these sounds. characters. and meanings represent. The main thing is not the
sounds, characters, and meanings as such, but their mutual relations within the chain of
speech and within the paradigms of grammar. These relations make up the system of a
language, and it 1s this interior system which is characteristic of one language as opposed
to other languages, whereas the representation by sounds. characters. and meanings is
wrrelevant to the system and may be changed without affecting the system.



o et = = T

&g Al 4 w34 9, wez o snyf g BEE S T S B JHue 3 @ 9 S
gfwrion o ama o ot 2o, aiives geTgdl & afd: Heel 1 A smEn faen BRR B # o2 s
g wafsia 41 o0 wdt @ Fre o g9 s B daa w oA weEe A e @) 39 W e A el e
url 1 Ferfiga w1 famas #1 afild #5182 At o o Fae  sgae 2@ afe
Qe dEE] % HE A 21 Sl fa aaesy @ am e e e (st g B e
1 ¥ F1 0 aviA A FE Faet AT FAU 6 AFEY S A0 H AR g8 w2 B am
917 1 ur e, s e & ey O i amhl, T el S sy 0 aw vreE F a9 e 3 e i
#1 O A 3wy wy U el s wd] R e =mEn # o] e ged | e faeiE am f
arafas gl st 421 2 @ fafaa e o sl 28 F afes arn B arafs gegal # gaae
(velata) =il A wafr, st iR S g 313w e, aam ol s v A A g e
w30 SR F afaur % offer 3 sy me O 2 1@ gew un ) s F) a9 E s ad as
apretfess worred 2 51 gl A  fata frdt o 61 g s 2 21 st safw, @i o sl =6
uiaf=ieea 36 9viTel & fe, smma 212 a9 g o fan warfae B viat e a2

What are the real units of language?

uren = ArATa STl 4 27

[Question ID = 1396][Question Description = 194_31_LINGUISTICS_Q94]
" Parts of speech

im-#1edi (Parts of Speech)

[Option ID = 5581]
2. Alphabet and lexicon

TUTETEAT AT T

[Option ID = 5582]
3. Independent units of linguistic components

[Option ID = 5583]
4. The relata which sounds, characters and meanings represent

TH HEaEEA] (relata) F SAFET, FEU HT 94T F AEAES FE 7

[Option ID = 5584]



5) Ferdinand de Saussure may in many respects be considered the founder of the modern
seience of language. He too was the first to call for a structural approach to language, ie., a
scientific description of language in terms of relations between units. irrespective of any
properties which may be displayved by these units but which are not relevant to the
relations or deducible from the relations. Thus, Saussure would have it that the sounds of a
spoken language. or the characters of a writien language. should be described. not
primarily in terms of phonetics or of graphiclogy. respectively, but in terms of mutual
relations only. and. similarly, the units of the linguistic content (the units of meaning)
should be described primarily not in terms of semantics but in terms of mutual relations
only. Acecording to Saussure. it would be erroneous to consider philology as a mere
aggregate of physical, physiological. and acoustic deseriptions of speech sounds, and of
investigations into the meanings of words. and we may add. of psychological
interpretations of such sounds and meanings. On the contrary. the real units of language
are not sounds. or written characters or meanings : the real units of language are the
relata which these sounds, characters. and meanings represent. The main thing 1= not the
sounds, characters, and meanings as such, but their mutual relations within the chain of
speech and within the paradigms of grammar. These relations make up the system of a
language. and it i1s this Interior system which is characteristic of one lansuage as opposed
to other languages, whereas the representation by sounds. characters. and meanings is
irrelevant to the system and may be changed without affecting the system.
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Which one of the following is the characteristic of a particular language?
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[Question ID = 1397][Question Description = 195_31_LINGUISTICS_Q95]
1. When sounds. characteristics and meanings change then the system is also affected

Hra el @ iR s wEer 2 o ] w ot ey T R

[Option ID = 5585]
, The system of language — the interior system of a language — does not change but
may be contrasted with another language

Cte el B e e e e A e B e o M s e =B e D e - o 2 ]

[Option ID = 5586]
The interior system of a language changes when changes take place in ancther
language



4.

Tarft e =Kl strafe yorref] @ wicatda 21 2 st ew g = v s e 2

[Option ID = 5587]

Sounds. characters and meaning are relevant to the system

A, @ A7 =14 uet | gaivd 2@ 3

[Option ID = 5588]

Topic:- 031_SEPT22_S1_PARTC

1)

Read the following passage carefully to reply the questions given below:

Language endangerment may be the result of external forces such as military. sconomic.
religicus. cultural or educational subjugation. or it may be caused by internal forces, such as
a community's negative attitude towards its own language. Internal pressures often have
their source in external ones. and both halt the intergenerational transmission of linguistic
and cultural traditions. Manyv indigenous peoples. associating their disadvantaged social
position with their culture. have come to believe that their languages are not worth
retaining. They abandon thelr languages and cultures in hopes of overcoming
dizscrimination, to secure a hivelihood and enhance sccial mobility or to assimilate to the
global marketplace. The extinction of any language results in the irrecoverahle loss of
unigue cultural. historical and ecological knowledge. Each language 1s a unigque expression
of the human experience of the world. Thus, the knowledge of any single language may be
the key to answering fundamental questions in the future. Every time a language dies. we
have less evidence for understanding patterns in the structure and function of human
language. human prehistory and the maintenance of the world's diverse ecosystems. Above
all, speakers of these languages may experience the loss of their langusage as a loss of their
original ethnic and cultural identity (Bernard 1992, Hale 1998). Raising awareness about
language loss and language diversity will only be successful when meaningful contemporary
roles for minority lansuages can be established for the requirements of modern life within
the community as well as in national and international contexts. Meaningful contemporary
roles include the use of these lansuages in everyday life. commerce. eduecation. writing. the
arts and/or the media. Economie and political support by both local communities and
national governments are needed to establish such roles.
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The internal force that 12 often responsible for language endangerment



[Question ID = 1398][Question Description = 196_31_LINGUISTICS_Q96]
1.

2)

Educational subjugation

eaforer wErTn

[Option ID = 5589]
Military aggression

[Option ID = 5590]
Negative attitude towards own language

ST e 3 ufa Fsrrns uah

[Option ID = 5591]

Economie deprivation
ny m" _‘!a:{'_

[Option ID = 5592]

Read the following passage carefully to reply the questions given below:

Language endangerment may be the result of external forces such as military. sconomic.
religious. eultural or educational subjugation, or 1t may be caused by internal forces, such as
a community's negative attitude towards its own language. Internal pressures often have
their source in external ones. and both halt the intergenerational transmission of linguistic
and cultural traditions. Many indigenous peoples. associating their disadvantaged social
position with their culture. have come to believe that their languages are not worth
retaining. They abandon thelr languages and cultures In hopes of overcoming
discrimination, to secure a livelihood and enhance scocial mobility or to assimilate to the
global marketplace. The extinction of any language results in the irrecoverable loss of
unigue cultural. historical and ecological knowledge. Each language is a unigque expression
of the human experience of the world. Thus. the knowledge of any single language may be
the key to answering fundamental questions n the future. Every time a language dies. we
have less evidence for understanding patterns in the structure and function of human
language. human prehistory and the maintenance of the world's diverse ecosystems. Above
all, speakers of these languages may experience the loss of their language as a Ioss of their
original ethnic and ecultural identity (Bernard 1992, Hale 1998). Raising awareness about
language loss and language diversity will only be successful when meanineful contemporary
roles for minority languages can be established for the requirements of modern life within
the community as well as in national and international contexts. Meaningful contemporary
roles include the use of these languages in evervday life. commerce. education. writing, the
arts and/or the media. Economue and political support by both local communities and
national governments are needed to establish such roles.
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The intergenerational transmission of linguistic and cultural traditions is halted due to
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[Question ID = 1399][Question Description = 197_31_LINGUISTICS_Q97]
1. Internal pressures
Al g
[Option ID = 5593]

2. External pressures

[Option ID = 5594]
3. Political pressures

[Option ID = 5595]
4.  Both internal and external pressures

[Option ID = 5596]



3)

Read the following passage carefully to reply the questions given below:

Language endangerment may be the result of external forces such as military. economic.
relizicus. cultural or educational subjugation. or 1t may be caused by internal forces, such as
a community's negative attitude towards its own language. Internal pressures often have
their source in external ones. and both halt the intergenerational tranamission of linguistic
and cultural traditions. Many indigenous peoples. associating their disadvantaged social
position with their culture. have come to believe that their languages are not worth
retaining. They abandon their languages and cultures in hopes of overcoming
diserimination. to secure a livelihood and enhance social mobility or to assimilate to the
global marketplace. The extinction of any language results in the irrecoverable loss of
unigue cultural. historical and ecological knowledge. Each language 1s a unigue expression
of the human experience of the world. Thus. the knowledge of any single language may be
the key to answering fundamental questions n the future. Every time a language dies. we
have less evidence for understanding patterns in the structure and function of human
language. human prehistory and the maintenance of the world's diverse ecosystems. Above
all, speakers of these languages may experience the loss of their language az a loss of their
original ethnic and cultural identity (Bernard 1992, Hale 1998). Ralsing awareness about
language loss and language diversity will only be successful when meaningful contemporary
roles for minority lansuages can be established for the requirements of modern hife within
the community as well as in national and international contexts. Meaningful contemporary
roles include the use of these languages in evervday life, commerce, eduecation. writing, the
arts and/or the media. Economiec and political support by both local communities and
national governments are needed to establish such roles.
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The extinction of an endangered language results in the loss of
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[Question ID = 1400][Question Description = 198_31_LINGUISTICS_Q98]

1.

2.

3.

Cultural knowledge

AR T

[Option ID = 5597]
Historical knowledge

e s

[Option ID = 5598]
Ecological knowledge



urfiferias I
[Option ID = 5599]
4 All three types of knowledge

[Option ID = 5600]

4)

Read the following passage carefully to reply the questions given below:

Language endangerment may be the result of external forces such as military. sconomic.
religicus. cultural or educational subjugation. or it may be caused by internal forces, such as
a community's negative attitude towards its own language. Internal pressures often have
their source in external ones. and both halt the intergenerational transmission of linguistic
and cultural traditions. Manyv indigenous peoples. associating their disadvantaged social
position with their culture. have come to believe that their languages are not worth
retaining. They abandon their languages and cultures in hopes of overcoming
diserimination. to secure a livelihood and enhance social mobility or to assimilate to the
global marketplace. The extinction of any language results in the irrecoverahle loss of
unigue cultural. historical and ecological knowledge. Each language 1s a unigue expression
of the human experience of the world. Thus, the knowledge of any single language may be
the key to answering fundamental questions in the future. Every time a language dies. we
have less evidence for understanding patterns in the structure and function of human
language. human prehistory and the maintenance of the world's diverse ecosystems. Above
all, speakers of these languages may experience the loss of their language az a loss of their
original ethnic and cultural idenfity (Bernard 1992, Hale 1993). Raising awareness about
language loss and language diversity will only be successful when meaningful contemporary
roles for minority lansuages can be established for the requirements of modern life within
the community as well as in national and international contexts. Meaningful contemporary
roles include the use of these languages in evervday life, commerce, eduecation. writing. the
arts and/or the media. Economie and political support by both local communities and
national governments are needed to establish such roles.
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What happens when a language becomes extinet?
ol aren = fe =1 - w2 A 27

[Question ID = 1401][Question Description = 199_31_LINGUISTICS_Q99]
1. Loss of international contacts
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[Option ID = 5601]

2. Loss of patterns of language

3.

4.

5)

s d T el

[Option ID = 5602]
Loss of indigenous knowledge

g o afd

[Option ID = 5603]
Loss of communication
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[Option ID = 5604]

Read the following passage carefully to reply the questions given below:

Language endangerment may be the result of external forces such as military. sconomic.
religious. eultural or educational subjugation, or 1t may be caused by internal forces, such as
a community's negative attitude towards its own language. Internal pressures often have
their source in external ones. and both halt the intergenerational transmission of linguistic
and cultural traditions. Many indigenous peoples. associating their disadvantaged social
position with their culture. have come to believe that their languages are not worth
retaining. They abandon thelr languages and cultures In hopes of overcoming
discrimination, to secure a livelihood and enhance scocial mobility or to assimilate to the
global marketplace. The extinction of any language results in the irrecoverable loss of
unigue cultural. historical and ecological knowledge. Each language is a unigque expression
of the human experience of the world. Thus. the knowledge of any single language may be
the key to answering fundamental questions n the future. Every time a language dies. we
have less evidence for understanding patterns in the structure and function of human
language. human prehistory and the maintenance of the world's diverse ecosystems. Above
all, speakers of these languages may experience the loss of their language as a Ioss of their
original ethnic and ecultural identity (Bernard 1992, Hale 1998). Raising awareness about
language loss and language diversity will only be successful when meanineful contemporary
roles for minority languages can be established for the requirements of modern life within
the community as well as in national and international contexts. Meaningful contemporary
roles include the use of these languages in evervday life. commerce. education. writing, the
arts and/or the media. Economue and political support by both local communities and
national governments are needed to establish such roles.
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What needs to be done for sustaining endangered languages?
HaFa= W1 1 =T waH o fofu o T o = sy 27

[Question ID = 1402][Question Description = 200_31_LINGUISTICS_Q100]
Create awareness

[Option ID = 5605]

2. Community's participation in preservation

Hagm 2 HuTH £ wpfrE

[Option ID = 5606]

3. Collaborative effort from all stakeholders

A feaaral = drdfees g

[Option ID = 5607]

4. Teach minority languages in educational institutions

Trequr Hea= 0 STEE AT 5 e

[Option ID = 5608]






